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GSE/M-18 1401

ENGLISH
(Literature and Language-II)

Time : Three Hours] [Maximum Marks : 80

Note : Answer all questions.

1. (@) Give phonetic transcription of any four of the following
words :

(i) Worth.
(ii) Saga.
(iii) Gate.
(iv) Medicine.
(v) Beauty.
(vi) Active.
(vii) Round.
(viii) Born.
(For Blind candidates only)
Give meanings of any four of the following words :
(i) Refugee.

(ii) Abandon.
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(iii) Terrace.

(iv) Embark on.

(v) Diaphragm.

(vi) Veiled. 4

(b) Give antonyms and synonyms of any four of the

following words :
(1) Joyous.
(ii) Softly.
(iii) Living.
(iv) Worried.
(v) Fanciful.
(vi) Exactly. 4
2. (a) Answer any four of the following questions in a word/
phrase/sentence each :
(i) Who is Bulu ?
(i) Why did the narrator break into tears at the end ?

(i) Why was the journey so difficult ?

(iv) What does the ‘storm’ stand for in the story ‘The
Refugee’ ?

(v) Where did the peasant plan to buy a bullock from ?
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(vi) How much did the Panchlight cost ?
(vii) Why did Gangu want to resign ?

(viii) Whom did the blind man loose ? 4

(b) Answer any six of the following questions in about 50

words each :
(i) Assess the equation between the old couple.
(ii) Why did the photographer look ‘very grave’ ?

(iii) How do the people of the hill community prepare
for the journey ?

(iv) Describe the daily life of the old sikh couple in
Rawalpindi.

(v) What did the peasant do in the end and what was
the result ?

(vi) How did people react when the Panchlight could
not be lighted ?

(vii) What did Godhan do?

(viii) Is Gangu the hero of the story ? If so, how does the
story make him one?

(ix) Describe the life the dog led after being set free
from the blind man ? 12
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3. Answer any three of the following questions in 150-200 words
each :

(a) What is the theme of the story, ‘Pigeons at Daybreak’ ?

(b) Describe Tinula's journey from her boarding school to
her village.

(¢) Would you consider ‘The Refugee’ as a story about
displacements—geographical, social, political, moral and
spiritual ?

(d) Bring out the element of humour in the story, ‘Bellows
for the Bullock’.

(e) Describe the excitement generated by the arrival of a
Panchlight in Mahto Toli.

(f) Describe the dog of the story. How did he become a
companion of the blind beggar ? 21

4. Attempt any twenty of the following.
(a) Change the following sentences as directed :
(i) I do not like milk. (Change into interrogative)

(ii) Do you eat bananas everyday ?

(Change into affirmative)
(iii) She is sometimes angry. (Change into negative)
(iv) We won the game. (Change into exclamatory)

(v) Why waste time watching T.V. ?
(Change into affirmative)
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Combine the following sentences to make compound
sentences :

(vi) My mother gave me an umbrella. It was raining.
(vii) Wise men prefer quality. Fools prefer quantity.

(viii) This shirt cannot be mine. It is too large.

Use the following modals in sentences of your own :
(ix) Can
(x) Must
(xi) Could
(xii) Will
(xiiil) Would
(xiv) Should

(xv) Ought.

Fill in the blanks with correct form of the given verb :
(xvi) The Jury ............... (be) considering its verdict.
(xvii) A lot of seabirds .......... (come) to breed on this

island.
(xviii) Either he or his friends ........... (have) done it.
(xix) One of my teachers ..............(belong) to my town.
(xx) Little of crockery .......... (have) broken.

Change the voice :

(xxi) This pot contains milk.
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(xxii) I know him.
(xxiii) Please help him.
Punctuate the following sentences :
(xxiv) you should help the poor the teacher said
(xxv) alas my dog is thirsty said the old man will you
give him a drop of water 20

(b) Do as directed (Attempt any seven).

Use proper Preposition :

(i) The bag is ............... the top rack .......... the
cupboard.
(ii) His clients are happy ............. Mani's work.
(iii) .............. peacock is in danger of extinction.
(iv) Could you getme ............... kilogram of tea, please.
Use proper Adverb :

(v) They managed to settle the dispute in ............
(vi) He expressed his point of view in ...........
Use proper Adjective :

(vii) Ilove ............ plays.
(viii) He is a ........... soldier.

Use proper Conjunction :

(ix) He is slow ............ he is confident.
(x) Water .............. oil will not mix. 7
1401/37,200/KD/896 6

Write an essay in about 200 words on any one of the following
topics :

(a) An electronic gadget that you own.
(b) Your favourite author/writer.
(c) A cultural festival you have organised in your college.

(d) Handsome is that handsome does. 8
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In addition to
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Time barred
Voucher

With reference.
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Note : Attempt five questions in all. Q. No. 1 is compulsory.
Attempt four more questions selecting one question from
each unit. For visually handicapped candidates, if they
attempt to question relating to map, the explanatory note
will carry full marks.

A ;. F@ U T FA T oIE TS 1 afEd ¥ e
TR A Y UF W T T IR G W R
¥ frafds g0 AAfee @ §Efv@ W W W
e feomt & @ oow fre

Compulsory Question

(fErd wyw)

1. Multiple choice question. Each question carries 2 marks.

g fawcdm e YEE Y 2 SF W R
(i) Who founded four Mathas in the four corners of India ? ,h..
(a) Shankaracharya _
(b) Ramanujacharya /
(¢) Bhaskaracharya
(d) Madhvacharya.
1411/15,000/KD/7/Map of India [P.]



il it s k= o e 0 - B e UNIT-1V (g&E-1V)

8. On the outline map of India. show the extent of Harsha

empire and also write an explanatory note on it. (10+6=16)

() TEEeTAE A YW F W@-HAEE W ogd ® Wung RrER W swiE

(®) srERTET A A S foomf o fafag

(%) =A== 9. On the outline map of India, show the extent of Vijay Nagar
(i) Vikramsila Ut ity was established by the rulers of empire and also write an explanatory note on it. (10+6=16)

() Pushyabhuti Dynasti IR ® W-TEAfaT W AT \RT s ST gen

(by Barman Dynasty g feomft o fafau)

(¢)  Sen Dynasty

(d) Pal Dynasty,

F g W OE efi?
(1) gedfa =
(F) 599 =9

(F) &9 99

(%) 91 g9

(iti) Who of the following was a contemporary of Chengiz
Khan ?

{a) Mahmud Ghazanvi

(b)y Itutmish

(¢) Alauddin Khalji

(d)  Muhammad-bin-Tuglaq.

1411/15,000/KD/7 2 1411/15,000/KD/7 7
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GSE/M-18 1415
MICRO ECONOMICS-II
Paper-1
Time : Three Hours] [Maximum Marks : 80
Note : Attempt five questions in all. Question No. 1 and 2 are
compulsory. Attempt the remaining three questions

selecting one question each from any three of the four
units.

qe : FF ufw WA H S AT W wEm 1 oden 2
e € I AR WA ® T SR wwEE A 9
fFfl 7 & ¥ - A I

Compulsory Question ( 37fard wy=)

1. A farmer with his ‘A’ Grade Land produce 35 quintal wheat.
As the demand of wheat increases he produce 30 quintal
wheat with the use of ‘B’ Grade Land, 25 quintal wheat
from ‘C’ Grade Land and 20 quintal wheat produce from
the use of ‘D’ Grade Land. On the basis of above idea answer
the following questions :

(a) Who gave the theory of Economic Rent firstly. Define
the meaning according to him.

(b) Determined the Rent of all grades of land of Farmer.
Also use the diagrams.

(c) Explain the different kinds of Rent.
(d) On which basis the theory is critised ? (4x4=16)

1415/7,100/KD/11 [P.T.O.



2.

T fFam ot ‘A’ U= W 9fF W WM w35
fRe & 1 IR wR R Se-9 W w9 ¥ 9
T ¥, TW-AW 9w ‘B’ Y w9 w1 WEM w30
e 9, 'C' T W 9 W owEm w25 feEew W
‘D' Y= W gfF w1 WM w20 fEew W oW
IR R & W OGEA ® R W Prefated v @
IR dfs

(%) ftfe o fogr= wEwem feem e o =

IR &1 TR H

(@) fFem % o=l 9ff | g TR a9 @ W
fruifm Fifvw w@fe = 9 = F:ifSw

(M wm % o= TR F1 smEm Fwif
(M) fF7 sl | @ fag= # e w5 M

(A) Choose the correct answer :
(a) Supply remain constant
(i) Long-Run
(i) Short-Run
(iii) Very Short-Run
(iv) Very Long-Run.

(b) Under monopoly price of the product determined
by

(1) Government
(i) Customer
(iii) Firm

(iv) None of the above.

1415/7,100/KD/11 2

(c) Product differentiation was developed by
(i) Keynes
(i) J.S. Ben
(iii) Baumol
(iv) Chamberlin.
(d) Quasi Rent =
i) TR-TC
(i) TR-VC
(iii) TR-FC
(iv) None of the above.
(e) Person gives money for borrowing known as
(i) Debtor
(i) Buyer
(ii1) Lender
(iv) All the above. (5x1=5)

TE SW w TE H
(F) qff fer wd &
(i) Sefwm
(ii) TFTA
(iii) fq- sTeT=FTa
(iv) sFfa-<refe

1415/7,100/KD/11 3 [P.T.O.



(O) WvwR & a8 # 3w 39 fuite s
L

(i) §&FR
(i) Susirm
(iii ) wH
(iv) ST ¥ ¥ #¢ =e
(M FR-fadz =+ yron fFay & o)
(i) === 3|
(i) STE 39
(iil) Imm@ |
(iv) S=RfEm 3
(F) A" A =
(i) FA A-7F a
(i) FA S-vfadTeha =rm
(iil) 7@ a-feer Mg
(iv) ST ¥ ¥ 7% T
(T) S =af@m gm0 IuR 3@ R I wEy ¥
(i) =oft

(i) I9arE
(iii) SEoTRTan
(iv) S0 |t

1415/7,100/KD/11 4

(B) Mach the following :

©)

(a) Rent (1) Horizontal Line
(b) MFC in Perfect Competition (ii) Change in TR
(¢) Minimum loss (iii) Zero Profit

(d) MR (iv) AR < AC

(e) Break-even point (v) Permanent in

nature
(5x1=5)

= w1 foom =%,
(%) &M (i) TR
(@) o st & (MFC) (i) %@ 9@ § TReds
(M <Tam & (iii) = w9
(¥) MR (iv) AR < AC
(¥) ¥9-fr=g fag (v) F5fd & wormg
Define the following :
(i) What is meant by Market ?
(ii) Define Non-price Competition.
(i) What is Differential Rent ? (3x2=6)

= = oftaw ol .

(i) SR § = sfmg 27

(i) T-#oa sheifm %1 wReafm S
(iii) FeTHF A ¥ w@ afuwr )

1415/7,100/KD/11 5 [P.T.O.



3.

UNIT-I (3&mE-1)

What is perfect competition ? Explain how price is
determined under perfect competition ? 16

T e w87 i R T SRR # s
ﬂﬁw@w&nﬂgww

(a) Explain the Difference between market price and
Normal price. 8

(b) Explain the importance of time element in price
determination under perfect competition. 8

(F)IOR FHA IR THE FEG T AW T SR
Hife|

(®) 7o wfafan = o=ria wme fufo & 999 79 @
TS F T FX

UNIT-II ($epts-11)

Define monopoly. Discuss price and output determination
under dumping. 16

TFTUFR Ft R e v # o= e qen
SR w fruRwm w8 == oW

How price and output are determined under price
discrimination ? Explain. 16

FAa fadde & #9 ok Sere 39 it B 3
AT F T

1415/7,100/KD/11 6

7.

10.

UNIT-III ( $&hmE-111 )

What is monopolistic competition ? Explain the price
determination under monopolistic competition in the short-
run. 16

TETFR SREfe 1 87 SoTFe ¥ UHER et
F =R FEd ¥ a1 =men sifaw

Define an aligopoly. How is price and output determined
under oligopoly. 16
JemfmR F IR e SefuER H O FIHG 9
SarEd #8 fruifm T w2

UNIT-IV (T&TE-1V )

Differentiate between money and real wages. What are the
factors affecting real wages ? 16

THE T TEEF FOgH W SRR TR RIWQ FEEE
Tl 1 FW AWy F E?

Critically examine the classical theory of Interest. 16

e F TaE] e # AeETE gHen Sl

1413 7.100/KD/11 7
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GSE/M-18 1421

HEALTH AND PHYSICAL EDUCATION
Paper-Theory

Time : Three Hours] [Maximum Marks : 60

Note : Attempt five questions in all, selecting one question from
each Unit [, I, III, and IV. Unit-V is compulsory.

AT : FF U Y FR TAF P Y TR I F T
| TFR-V e R
UNIT-I (3&mE-1)

1. Explain the Scope of Health Education. 10
ween e % &% F: R w

2. What are the general principles of first aid ? 10

wuftr fafsen % wmm= fogm = 8

UNIT-II ( ¥&T3-11)

3. Discuss the sports policy of Haryana State. 10

o T8 ® T A F AR w1

4. Explain the Post-Independence Historical Development of
Physical Education in India. 10

gd H e ¥ 9% YN foen % ufeefow fawm
T I F

1421/5,300/KD/16 [P.T.O.



o

~i

UNIT-III ( g&TE-111 )

What is the importance of Physical Fitness ? 10

TfF EIE W F HEW €7

Miscuss the factors influencing Physical Fitness. 10

m@mﬂﬂﬂﬁ@mﬁwmﬂm%%%ﬁ_

~

UNIT-IV (F&E-1V)

Explain the anatomy of Human bone. 10

e TEA F oAAEE F AR FW

Discuss the various types of synovial joints in detail. 10

- wrg 1 femngEE T

UNIT-V (F&E-V)
Compulsory Question ( otfrEmd w9R)

Answer the following :

(a) Define Health Education.

(b) What is First Aid?

(c) Name any four common injuries.

(d) Write full form of I0A, SAL NSNIS and YMCA.
() Whatare ISOMETRIC EXERCISES ?

(f) Write nvo functions of bones in human body.

1421/5.300/KD/16 2

(g) What do you mean by JOINT ?
(h) Define Physical Fitness.
(i) What are types of joints in human body ?

() What are the components of Physical Fitness ?
(10x2=20)

fm % s ST .

(%) Tife foen # wRem <

(@) wofas fafeea # 7?

(M) R TR FERW GE H AR T

(7) 10A. SAI, NSNIS @R YMCA # T &1 el
(T) sEEEEF (ISOMETRIC) =mam = 27
(%) T WR § wfeedl ® @ wH fa@
(3) Wz ¥ g F S E7

(%) TrifeE wyeE F AR <

() 79 TR § S TER T E?

() TR FEET A F g

1421/5,300/KD/16 3



Roll No. ..cccoeviiennnnnn Total Pages : 3

GSE/M-18 1423

MUSIC (Vocal)

Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all, selecting at least one question

from each unit. All questions carry equal marks.

M : TEF R W FH-U-FW TE WA F T FW

FA ule T F I AN w9l v # stw wEm
£l

UNIT-I ($&E-1)

Write the notation of Rag Vrindavani Sarang in Drut Khayal
with two tans. 8

T FIEA W H FW A H WA & qE wfEd
geef]

Write the detailed description of Rag Kaafi Or Hamir Rag.
8

T FTR AW FHAR T F QO 9R=g 2

Write down the notation Slow Khayal (Vilambit Khayal) in
any Rag prescribed in your syllabus. 8

I MEEFET § § 5 s W % e = (3=
) F R &g

1423/1,600/KD/473 ‘ [P.T.O.



UNIT-II ( 3oTE-11)

4.  Write short notes on the following :
(a) Varan.
(b) Khayal.
(c) Tarana.
(d) Parmel Parveshak Rag. (4x2=8)
frafafes w dfya femfral fog
(%) 9|
(|) Tl
(M) qauAT
() TS FEWE T
5. What do you know about the “Gun and Dosh of Singers” ?
Write in detail. 8
TEE ® 0 R W F N F e wn W & ford
6. Write down the difference between Margi and Deshi
Sangeet ? 8
7R wd 2w wiw § w82 fafaw
UNIT-III ( g&T-111 )
7.  Write Jhaptal and Tilwara Tal with dugun layakaries.
Foae den fierare 9@ & IR gfen fafeu
1423/1,600/KD/473 2

8.

10.

Write the life-sketch and contribution towards music of Pandit
Omkarnath Thakur OR Ustad Abdul Karim Khan. 8

TfEd FTFERTY IR W IWR JAFA FAN GH H
SfEA-ufea ok T ® o 3T dEm @ R § =
Fieg

What is the role of music in National Integration ? Write in
details.

TSR TEA § Wi w1 oFn gfe €2 fawm ow= oW

Write the life-sketch and contribution of Pandit Omkarnath
Thakur towards music.

TfrEd SmERY I F . SHeA-uiEg @ s @i o
IEE F T W

1423/1,600/KD/473 3
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GSE/M-18 1425

MUSIC INSTRUMENTAL
Paper-1 (Theory)

Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all. selecting at least one question

T

from each section. All questions carry equal marks.

TIF MW W FH W OFW TE W F T T BT
FA U I F W AR wsft el o wum

7

SECTION-I ( 971-1)

Write any Raza Khani Gat of your syllabus with at least two
toras. 8

FH TEEET F fF ff wF T F W T F9-9-9
T el wfgw fafan)

Write the detailed description of Rag ‘Vrindavani-Sarang’
and Rag ‘Kaafi’. (4+4=8)
T FREH-|T a4 T FE F F wiEg fafa

Write down the full description of Rag ‘Des’ with Aroh,
Avroh and Pakar. 8

T %W w1 g 9fEm oWE, oeRE deT TwE i
fafen)

1425/1,100/KD/19 [P.T.O.



SECTION-II ( 911 )

Define any two of the following :
(a) Vadi Swar.

(b) Samvadi Swar.

(¢) Meend.

(d) Vivadi Swar.

frafafen & @ ff= v #1 oo fafex .
(F) IR =R

(@) e =R

(m #el

(%) faam =w

(4+4=8)

What do you know about the Classification of Indian Musical
Instruments ? Write in detail. 8

I S ARl owie # fawm ¥ e s s

& fommrgds fafau

Describe the concept of Time-Theory in Indian Classical

Music. 8

I weE S ¥ Cwe-fagm’ w1 sfaumen @

uiw Hl|

Write in detail about Nayak-Nayaki and Sam-Khali.
(4+4=8)

TAF-TH! q TH-wed F fov # famm ww fafaw

1425/1,100/KD/19 2

8.

10.

SECTION-III ( 9T -I1I )

Write down the contribution of media in the development of
Indian classical music. 8

T TSTE e % e ¥ wen-weR ® e s

e fafEu)

Describe in detail about merit and demerits of Sitar Players.
8

foar s % o 9w I w1 famR @E wo wit
Write down the notation of Tal ‘Jhap Tal’ and Tal ‘Rupak’
with Ekgun and Dugun Layakaries. (4+4=8)
LGOI 1 M T S Mo A S e I
TrETE o fateg S

1425/1,100/KD/19 3
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GSE/M-18 1436

OFFICE MANAGEMENT

Time : Three Hours] [Maximum Marks : 80

Note : Attempt any five questions. All questions carry equal
marks.

e : 5 ufw o ® s AfSw wsft v % ofF TEm
4

1. Define Indexing, and discuss the essentials of a good indexing
system.

SoipT =1 TR wX ok Tw o S Ry ®
HEYTF T H AT F

2. Discuss the procedure of the selection of Office staff.
FHGET TF F T F FEGY F oS R

3. What is Supervision ? Discuss the need for supervision in
modern offices.

vy T ¥ i wrlerdl B wdAwer w7 erevaw
T = F

4. What do you mean by Incentives ? Illustrate your answer
with reference to various incentives which office staff want.

‘TeE’ § SOE T ATIE 2?7 STY o9 I FH
FEAEE WE W AEA g = gl ® oged o
r=: Lo

1436/200/KD/28 [P.T.O.



Define Office manual. Discuss its importance in a modern
office.

Fred Few-gfew’ w R ST TE eyt
FETE ¥ WH HEw F Sawul

6. What essential points would you keep before you in order
to reduce the cost of stationery and supplies ?
%@dﬂ-ﬁq&ﬁgﬂmﬂmﬂﬂ%ﬂ
a9 fF3-fre smovas 9|l w1 wm @

7. “Unless full use is made of office machinery, its purpose is
not justified.” Comment.

'E T FEEE WA R 90 v T e 99 T
E IWT I T R e i
8. Describe the working and merits of the following office
appliances used in a business office :
(a) Computer,
(b) Printer.
(¢) Mailing machine.
(d) Duplicating machine.
TF SEEIeF FEed ¥ w90 frr 9 R 9 frefates
FHTE ITFT F FE T HEE Fowmen A
(F) HEL|
(@) ¥
(M) e Teim
() g=ifen gef)
1436/200/KD/28 2

10.

Define Business correspondence. Bring out its importance
in business and govt. offices.

Draw up a routine to be followed in despatching out-going
mails. Do you think centralisation of mailing department will
improve the efficiency in handling mail ?

A S TR A T A wEm fey W o e
T F TRy AR ReR ¥ e faam @
FHET ¥ T IR Fema ¥ QR Em

1436/200/KD/28 3
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GSE/M-18 1445
PCLITICAL SCIENCE
‘Indian Politics)
laper : il
Opt. No. =1
Time : Three Hours] Maximum Marks : 50
Mote t Artempt fve questions in ail. selecting one question from
rach unmit, Questicn No. | Wm compulsory. Zach guestion
carries 16 marks,
HE ¥ TR WA I TN, FA U OTH
Ecali-ail ¥
Comnulsory Cuestion ¢ STTHETT WIT)
L. Wrie short notes on the following : (Bx2=16)

je)

i)

1445/1

“Vhv india 1s called a Qussi-federal State ?
What is meant by the Autonomy of States 7
Electoral Svstem.

Mention any rwo features of Indian 7

Explaimn is short problem of Pelitical Defection in India.

Zxplain fwo features of secularism in Indian
“onstitution.
,»44,4

India 1s a multi-lingual state”™ Discuss.
Give rvo reasons how does the Reservation Politics
erfects Indian politics ?

137

Vhat do veu mean by ciiminalisation of Politics ?

s

!

200/KD/32 i



frafafas | v fewfort fefag -

(F) IR F1 NF-TOTF T T FE T E?

(@) T T wEEa wown o

(M) 9D gAE Jomelt F OFE & fEman @)

(F) 9Ra H TAIE TA-TT H FEEN T F FHIE

(F) WA wfaym ¥ ud froem T @ fewaw
Cried

(F) “9NE TF TE-aWE T R TR

(B) ARYT FT TG qET T F F9-F9 q0F
¥ vl s 2

(W) ToAfg & somdfen | omuw F R £
UNIT-I (33-1)

Explain the nature of Indian Federalism.

g guaE ® WEY H 9o wi

What is meant by State Autonomy ? What are the major
reasons for the demand of State Autonomy ?

T @Eaa ¥ FJ AY 27 T =g # A ® .=
T& 10 §7

UNIT-II ( geht3-11)

Explain in detail the main features of Indian Electoral System.
IEE gAE yore w1 qen favmst w1 frem o ol
Exd

1445/12,200/KD/32 2

Examine critically the Role of Election Commission of India.

IE § G AT F G F AEETE g
UNIT-III ( $ehte-I11 )

How Political Parties are registered in India ? Discuss the
main problems of Political Parties in India.

IE § ToHIaE To FT THE B T E? 9T W
TG e ® W el #1 avie &R

Explain the effects of Regional Parties on Indian Politics.

IRAg TOAIE W G qoAfeE g % 99TE %7 s

UNIT-IV ( TFE-1V )

What is meant by ‘Caste’ ? Explain the interaction between
Caste and Politics in India.

N

‘wfe' w o oY BY 9mE § ‘wfE’ wen ‘uefy ©
F-fEm =1 =JEm w3

Write down the constitutional Provisions with regard to
Reservations. Are you in favour of Reservations ? If Yes,
give Reasons in support of your answer.

Ry g S sremen g oA smer %
T W E IR T, q AW ST F 9w F aw ¥

1445/12.200/KD/32 3
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GSE/M-18 1446
POLITICAL SCIENCE
(Indian Politics)
Paper-1
Opt. (i)
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. All questions carry equal
marks.

M F@ AT T T o wWH B oF wEm

1. Examine the causes of tension between Centre and State in
Indian Political System., 16

T ToHaF 9 ¥ F2-060 99 § 778 3
FROT F1 fHEEs wl

2. Discuss the emerging trends of Indian Federalism. 16

TR FEaR # I wate w1 oave i

3. Examine the composition and importance of the Election
Commission in India. 8,8

9§ frafem oM ® Wmew uwd mew W faaew s

1446/3,750/KD/33 [P.T.O.



4, What do you understand by Voting Behaviour in India ?
Discuss the factors influencing it. 8,8

g § TAER EER ¥ o9 F W &7 THE! v
FE T TE H T F

8. Discuss the nature of Indian Party System. 16

IRG F TEE TOTE HT TEHG FH AR B

6. Describe the merits and demerits of Pressure Groups. 16 .

TAE TR & O qe N F oI FH

7. Describe the role of Language in Indian Politics. 16

IRAE Tore § o9 # gfge w1 e F

8. What are the main challenges before Indian Political System ?
Discuss. 16

IREE T S % Ny sH-9 v gt €2
T

1446/3,750/KD/33 2

9. Objective type questions.

TS T

(i) Telangana is going to become India's

(if)

(a) 36th state
(b) 29th state
(¢c) 28th state

(d) 24th state.

TR TRA FT BE-T T T T @ 2
() 36t

(F) 298

(W) 285t

(%) 243t

Subjects related to Concurrent List is given to
(a) Parliament only

(b) States Legislatures only

(c) Both (a) and (b)

(d) None of the above.

1446/3,750/KD/33 3 [P.T.O.



(i)

Tt et # e fy g &
() P FEg H

() 5w T faummsed =
() () o0 (9) < F
(7) ST ¥ ¥ e w oA

Election Commission consists
(a) Chief Election Commissioner only
(b) Election Commissioner only

(c) Chief Election Commissioner and two Election
Commissioners

(d) None of the above.
frafem omm o ¥

(¥) o g Frafem g
() Ho@ frafem e

() I T FGR a0 q T YR
() S ¥ | =¥ T8

1446/3,750/KD/33 4

(iv) Who is the Ex-offico Chairman of Planning

)

Commission ?

(a) Prime Minister
(b) President

(c) Finance Minister

(d) Commerce Minister.

AT FEM F WA A FH g &2
() FUTHE

() g

(%) fam=st

(X) wifoRg w5

Local Government is the subject of

(a) Union List

(b) State List

(¢) Concurrent List

(d) Residuary.

1446/3,750/KD/33 5 [P.T.O.



WY S vy
2 (vii) Political Parties are registered by
(a) Parliament

()W Th =
, (b) Supreme Court
() 7= m,m.q A | (c) Election Commission
(9) vt geht (d) Governor.
T <o w1 dohEa e S #
(X) safire .
() 9% 80
: . (¥) Farew |EEE
(vi) Who is the author of ‘Cast in Indian Politics’ ? - .m,ﬂm_ .
(@) Mori
voaiga (%) T R

(b) Jennings (viil) Which was the first state formed on language basis ?

(c) T.L. Bhargava (a) Haryana
(b) Andhra Pardesh
(d) Rajni Kothari. (©) Gujarat
‘Cast in Indj - i 2=16)
Cast in Indian Politics’ . (d) Himachal Pradesh (8x
® e ¢ ﬁ%ﬁ%ﬂq@auﬁaﬂ%@%
N .
() e i (31) gfEmn
() S (@) T W
£ m_ﬂm_m
([) Aww. il (%)
(z) femmEm W&
(T) Tt HREA

1446/3,750/KD/33 6
1446/3,750/KD/33 7
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GSE/M-18 1448
CONTEMPORARY POLITICAL SCIENCE
Paper-I1
Opt.(ii)
Time : Three Hours) [Maximum Marks : 80

Note : Attempt five questions, selecting one question from each
unit. Question No. 9 is compulsory. All questions carry
equal marks.

&m”idqﬂmdﬂﬂm_ﬂﬂmﬂam@nﬂﬂx
FU TT T 9 AP ¥ W W B o
T ) ,
UNIT-I (3ehTE-1)

1. What is meant by Political Science ? Discuss its scope. 16

TG e 1 o o R e 8y W s w

2.  What is the meaning of Behavioural Approach ? Describe
its characteristics. 16

FEEREE! ghew = oo w;m R e favmaet =
ol Fifeg)

UNIT-II ( $hT3-11 )

3. Describe the meaning, definition and utility of Political
theory. 16

1448/1,100/KD/1263 [P.T.O.



T fogr w1 o, oftyw @ IyEitT #1 v
Fife|

Define the term ‘Political Theory’. Describe the main features
of Political Theory. 16

‘et fagra’ # ofaw Sf TeEfaE e #
T AT H FUR HifwC

UNIT-III ( $emE-I11 )

Write a detailed note on the significance of Political
Socialization. 16

T TR # W W fawRgEw Ae fegl

What is Political culture ? Explain its kinds. 16

ToTE T RS FE 8 e TN T = w1
UNIT-IV (FeE-1V)

Explain the Right to Information Act, 2005. 16
9 gE R afuftEm, 2005 1 sEmEn Fife

What is Consumer Protection ? Describe the provisions made
for the protection of interests of consumer in India. 16

TogE T FE wEd B 9 ¥ I ¥ A ®
fon F T el ¥ FUH FHY

1448/1,100/KD*1263 2

Compulsory Question ( 31fard wev)

Objective Type Question (TG F¥7):

Select the correct answer :

F IW F 99 HIWC :
(a) Politics is the study of influence and influential. Who
stated?
(1) Max Weber.
(1) Lasswell
(iii) David Eastan.
(iv) Hobbes.
T G e wEweh w1 oseE % fEeR
wEl?
() FF AR
() I
(7)) e =1
(%) ¥T=H
(b) Who wrote ‘Modern Political Analysis’?
(1) David Easton.
(i) Lasswell
(iii) Weber
(iv) Machiavelli.

1448/1,100/KD/1263 3 (P.T.O.



‘e dfefere wifafes’ T e R R
(%) e d=n

IR

(¥) ;W

(%) Fremarett

(c) Who is considered as Father of Political Science ?
(i) Socrates.
(ii) Plato.
(iii) Aristotle.
(iv) Cecero.

TSHTta e &7 frame 59 w7 s &

(37) gFua
() ==

(]) =Y
(3) fam
(d) Who wrote the book ‘Politics’ ?
(i) Plato
(i) Mosca
(iii) Aristotle

(iv) Socrates.

1448/1,100/KD/1263 4

(e)

)

‘TG e e fRR Rt
() =i
() O

(]) W=
(R) g=0a)

Which is the Political culture of India ?
(i) Civil Political culture

(ii) Paroclial Political culture

(i) Subject Political culture

(iv) Ideological Political culture.

TRa H wE-E Tt Sl §)
() TRF THATTF  Hply

(3) HFrf ToefE SeEfy

(W) W7 Toifow we=wfd

(7) fem= Toifes Twpfal

Which element is not related to the agency of Political

Socialization ?

(i) Family

(i) Educational Institutions
(iii) Literature

(iv) Revolutions.

1448/1,100/KD/1263 5

[P.T.O.



PH-T q@ TR TARHE FOATHE A

(h) When the Right to Information Act came into force ?

T T E i) In 2004
(37) gfEr (i) In 2005
e (iif) In 2009
(=) T S (iv) In 2014.
(®) wfe W gEm dfueR sfufrm w3 @n e mm?
(3) wfen (a7) 2004 ¥
(2) When the Protection of consumer Act came into (%) 2005 #
existence in India ? ) 2009 ¥
G) 1955 (%) 2014 H
i) 1986
(i) 1987
(iv) 1996.

¥ Sud ® fedl #oman ¥ fom w9 w
T T

(37) 1955 ®
(F) 1986 H
() 1987 H

(Z) 1996 HI

1448/1,100/KD/1263 6 1448/1,100/KD/1263 .



Roll No. v Total Pages : 3

Time : Three Hours]

GSE/M-18 1449

NUMBER THEORY AND TRIGONOMETRY

Paper : BM-121

[Maximum Marks : 27

Note : Attempt five questions in all. Question No. 1 is

(a)

(b)

compulsory. Select one question from each section.

Compulsory Question

If alb and b # O then show that | a | < | b |. 1¥2

It « =0 (mod m) and ¢ = d (mod m) then show that

ac = bd (mod m). 1L2

Evaluate 6(462). 12

Split ¢ """ into real and imaginary parts. 113

Find o(n) for n = 270. l
SECTION-I

Find the g.c.d. of 28 and 49 and express it in the form
m.28 + n.49. 2y

Show that every odd prime number is either of the form
4k + 1 or 4k — 1. where X is a positive integer. %)

1449-3.600/KD/34 4 [P.T.O.



3. (a) Solve the equation 7x + 5y = 3. 2Ya
(b) Show that 510 - 310 js divisible by 11. 2V
SECTION-II
4. (a) Find the number of positive integers < 1800 that are
coprime to 1800. 2Y2
(b) Show that the set of integers {1. 5. 7. 11} is a
RRS (mod 12). PAZ)
5. (a) Find the highest power of 6 contained in 500! pA%)
(b) Evaluate d(p?q’). where p. ¢ are distinct primes. 2%
SECTION-III
6. (a) Find the cube roots of 8i, expressing each in the form
a+ ib. 2V
(b) Express sin® @ cos” § in a series of cosines of multiples
of 6. 22
7. (a) Ifsin(u+ i) =x+iv, prove that
./.IJ " . ./.IJ = w. Nu\\u
cosh™ v sinh~ v
(b) Solve the equation
tan™' 24+ tan”! 3x M.W. 2Y2
1449/3.600'KD/34 2

(a)

(b)

(a)

(b)

SECTION-IV

Find the principal and general values of log (-3). 2%2

a4 13 27
Prove that cos™ — + tan™! = = tan™' =—. 215
5 5 11
Sum to n terms the series
tan™! L. tan”! L. tan™! L + 2l
3 7 13 7 -

Find the real and imaginary parts of tanh™! (v + iv).
2Va

1449/3.600/KD/34 3



SECTION-IV

8. Solve the following simultaneous equations :
dy d:z
a) x—=+2z=0and x—+y=0. 2y,
(a) o I el 5
b) dx dy dz .y
(b I~ 3 7 Sz+tan(y-3x)° =
9. Solve the following differential equations :
(@) 3x= dx + m.,n dv — (3 + .<w + ) dz = 0. )
(b) (2xyz + voz + Vo) dy + (32 + 200D+ 4 v
+ (v 4 0T+ 20 dz = 0,
212
1450°3.600/KD/35 4

Roll No. oo,

-

Note :
1. (a)
(b)
()
(d)
(e)
145

[ime : Three Hours]

Total Pages : 4

1450

GSE/M-18
ORDINARY DIFFERENTIAL EQUATIONS

Paper : BM-122
[Maximum Marks : 26

Attempt five questions. Question No. 1 is compulsory.
Select one question from each section.

Compulsory Question

Give the integrating factor of the differential equation

(x* + ) dy = xy3 dy = 0. 1
Define Orthogonal trajectory. 1
Write the solution of the total differental equation
Pdx + Qdy + Rdz = 0, when it is exact and
homogeneous of degree n # ~1. 1
Write the condition if ¢* is a particular solution of

2

d-y dy

C2ipliqr=R. _

dx dx

. w N». [y}
What is the value of ——— x¢™" * 2

D*+2

0/3,600/KD/35 [P.T.O.



SECTION-I

2. Solve the following differential equations :
(@) (y3+y)dx+ 2003y + x + x4 dy = 0. %)
(b)y yv=p+ p2x. %)
3. Solve the following differential equations :
(@) (x2+y*+1)de—2xydy=0. 22
(b) ~2xp+y=0. 2Ya
SECTION-II
4. (a) Find the orthogonal trajectories of the system of curves
7t = a cos nb. 22
(b) Solve the following differential equation :
d’ z dy = e sin x 214
&H dx
H X -xx .
5. (a) Prove that ﬂlxn e ._,m % xdx | no arbitrary
-a
constant being added. 2Y2
(b) Solve the following differential equation :
% &Ix~%+w§lx logx, 2
&HN dx 2
1450/3,600/KD/35 2

SECTION-III

6. (a) Solve the following differential equation
d-y dy
— =2 tan «.|+m« = (sec x)e*
dx® dx
by removing the first derivative and changing the
dependent variable. 22
(b) Solve the differential equation
2 u.«
d “\ e W dy 49y =
dx” dx «
by the method of variation of parameters. 22
7. (a) Solve the differential equation
a2y
2+$NM|+C+\3 +y=4coslog (1+x)
X
by changing the independent variable. 2Y2
(b) Solve the differential equation
J2
‘ , =2e¢" +cos x
dx~
by using the method of undetermined coefficients.
2Y2
1450/3,600/KD/35 3 [P.T.O.



9. (@) Apply Gauss theorem to show that

. 3 o 2.4 o ~ -\ _ s -
._._2,., .,..<nfam.<.f+w\,._.\:\wnﬂ.:é:m&m
b
m

denotes the surface of the cube bounded by the planes

x=0v=ayv=0y=a:=0. = a 2

(b) Evaluate .ﬁ\ dr by Stoke's theorem where
.

A

f=yi 4~ (x+ 2k and C is the boundary of

triangle with vertices at (0. 0, 0). (1. 0, M, (1, 1, 0).
3

1451/3.600/KD/36 4

Roll No. .o, Total Pages : 4

GSE/M-18 1451

VECTOR CALCULUS
Paper : BH-123

Time : Three Hours| [Maximum Marks : 27

Note : Attempt five questions in all. Question No. | is
compulsory. Select one question from each section.
Compulsory Question

1. Attempt all the following :

(@) Find the volume of parallelepiped whose edges are
represented by

Q=20 ~3]+ 4k

b=i+2j-k

=30~ j+2k. I
(b) Find div (curl y), where y is a vector function, [

(© It d=5%+4j—*k and b=sinti-cost ], find

d

Mm&.@v . |

(d) Define Scalar triple product and Vector triple product.
1

() If F=uxi+ : + 2k then show that div ¥ = 3. 1

1451/3.600/KD/36 [P.T.O.



SECTION-I
2. @ Ifa, v., ¢ be the three non-coplanar vectors, show that
[dxb bxé éxdl =1[d b ¢ 2%
(b) Prove that (b x¢)x (¢ Xd)=[d b ¢]¢ and hence
deduce that [b x¢ éxd dx bl = d b ¢PP. 3
3. (a) The necessary and sufficient condition for the vector
function f of a scalar variable ¢ to have a constant
Lo df
magnitude is f M\I =0, 22
dt
(b) Find a unit tangent vector to any point on the curve
X=acost,y=asint, z = bt 3
SECTION-II
. @ If r=|r|, where r=xi+yj+zk, prove that
. r
Vioglri=—. 2%
r-
(by It F=|r]. where r=uxi+yj+zk, prove that
ol o 1Y 3dr) by (@b
a.V{b. V= ﬁ,lﬁfllﬁ %v. 3
r r r
5. (a) Given the curve of intersection of two surfaces
ol 9 ~ ~ .

Y4y +m=landx +y+z = 1; find the tangent line
at the point (1. 0, 0). 2%

1451/3,600/KD/36 2

(b)

(b)

7. ()

(b)

(b)

e e

Show that VxV ¢ =0, i.e. curl (grad ¢) = . 3
SECTION-III

Transform the function f=pé,+pé; from
cylindrical to cartesian co-ordinates. 2Va
Express the velocity v and acceleration 4 of a particle

in cylindrical co-ordinates, 3

Show that in orthogonal co-ordinates

v i d
V.(Aé)= — (A h,}
Prove that <= (¢ )= 6 ¢, and - (6.)= -6 wh
o<2mﬁyﬁmnvlgme an thmgvllsau,s ere
dots denote the differentiation w.r.t. time. 3

SECTION-IV
Evaluate ._..\”. dr, where f=xyi +yzj + 2xk , the
C

N . . s 24 3 7 .
curve Cis F=ti +12j+1> k and ¢ varies from -1
to 1. 2V

If f=Qx+ V)i + (3y = x) J: evaluate ._..\”. dr . where
c

C is the curve in xy-plane consisting of the straight lines

from (0. 0) to (2, 0) and then to (3, 2). 3

1451/3,600/KD/36 3 [P.T.O.
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Time : Three Hours]

GSE/M-18 1

NUMBER THEORY AND TRIGONOMETRY

Paper : BM-121

[Maximum Mar

Total Pages : 3

472

ks : 40

Note : Attempt five questions in all. Question No. 1 is compulsory.

()
(©
(d)

(e)

(b)

3. (a)

(b)

Select one question from each section.

Compulsory Question

Prove that every two consecutive integers are co-prime.

If n is a power of 2, then prove that ¢(n) is odd.
Prove that " = a mod (a~!)y where a > 1.

Express coth (x + iy) in the form A + /B.

1
Prove that 2 tan™ 3 +tan~ 7 = wm

SECTION-I

1v2
%2
1¥2

2

1Y%

Show that there are infinitely many primes of the form

4n + 3.
Show that n’ — n is divisible by 42,

4
4

Find the least positive incongruent solution of

7x =5 (mod 256).

4

By using Wilson's theorem, find the remainder when

2(26)! is divided by 29.

1472/11.100/KD/43

4
[P.T.O.



SECTION-II SECTION-IV

4. (ay Find all integers that give the remainder 1. 2. 3 when

divided by 3. 4, § respectively. 4 T ) . i
8 (v It -_]lllﬂl =0 - if}. prove that one of the values of
(b)  Show that 2. 4. 6, ..., 2m is a CRS (mod m) if m is odd. (L=1)
4
I
tan”™! m is v+ vilog 2, 4
5. (a) Find all n such that d(n) = 10. Hence find the least such o -
value of 1. + (b) Separate tan~! (x + iv) into real and imaginary parts.
17 4
b) Evaluate | — |, 4
(b) T
‘ 2 o v
9. (w)y Prove that coth™ T = sinh™ —— 4
SECTION-III : 4=
6. (a) Show that the roots of the equation (v — 1)* + x* = 0 are (b) Find the sum of the series
given by
] (1Y |
1 X 2r+1 cos B + — cos 20+ = cos30 + ..o, 4
X=—=1l+icot———nm |, 2 2
2 8
where r =0, 1, 2, 3. 4
(b) Prove that
16 sin® 6 = sin 50 - 5 sin 36 + 10 sin 6. 4
7. (a) Iftan (8 +i9)=cos o + i sin o where letters denote real
quantities, then prove that ¢2° = tan Mt + W . 4
(b) If tan y = tan o tanh B and tan z = cot o tanh B. prove
that tan (v + ) = sinh 2 cosec 21, 4
1472/11,100/KD/43 2 1472/11,100 KD'43 3



(b) Solve the simultaneous equations

adv _ bdv  cd:
(b=-c)yvz (c—-a)zx  (a- byxv

, dv _dv _ d:
9. (a) Solve the equations 4 il v e

(b) Solve the differential equation

(2x2 +2vv + 202 + D dy + dy+2:d:=0.

1473/11,100/KD/45 4

Roll No. .o . Total Pages

t 4

GSE/M-18 1473

ORDINARY DIFFERENTIAL EQUATIONS
Paper : BM-122

Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all. Question No. 1 is compulso

4 Select one question from each section.

Compulsory Question

Iy,

1. (a) If My + Ny # 0 and the equation M dx + N (v = 0 is

homogeneous, then what is the integrating factor ?

I

(b) Solve the Clairaut's equation (y - px)2 = 1 + p-. 2
(c) Find the complete solution of the D.E.
(0 + 507 + 1)y = 0. 2
(d) Write homogeneous equation of order 3. I
(e) Write the condition if e' is a particular solution of
d* v dy
dv* P dx Qv =R. -
SECTION-I
2. (a) Solve the D.E.
2y = 3y dy + (323 + 20 dv = 0. 4
1473/11.100/KD/45 (P.T.O.



9. (@) If f=Qx*~32)i 2% 4xk, find :?. fav,
)

where V is the region bounded by coordinate planes and
the plane 2x + 2y + z = 4. 4

where S is the upper half of the surface x2 + y2 + z2

AS<ma@m8wo.mﬁ:ooﬁam3wnﬁx..éml v&nwlv\nm\m
HH
and C is its boundary. 4

1474/11,100/KD/898 4

Roll No. oo Total Pages : 4
GSE/M-18 1474

VECTOR CALCULUS
Paper : BM-123

Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all. Question No. 1 is compulsory.
Select one question from each section.

Compulsory Question
1. (a) Showthatvectors g =/ +2j+#&, b =3 +2] -7k and
=5+ @m — 5k are coplanar. 2

(b) What is the necessary condition for a scalar point
function ¢ to be constant ? 1

(c) Find V.7, where 7 = xi +yj + zk . 1

(d) If u, v, w are orthogonal coordinates, prove that

1 i 1
= — =— |V = —
IVl e Vv \s,_ wl i
NSQ mhnmhq MN".@Nw mmw ”mw. N
3
© Iff=(-r2)i+7} -3k, find .?&. 2
2

1474/11,100/KD/898 [P.T.O.



SECTION-I
2. (a) The necessary and sufficient condition for the vector
function f of a scalar variable ¢ to have constant
direction is f X L/ 0. 4
dt
(b) Show that dx(bx&), bx(¢xd), ¢x(dxb)are
coplanar. 4
3. (a) If @, b, & denote the reciprocal triod of vectors, show
that (@ x 5') + (B’ x &) + @ x @) = 212FE 4
[a b
(b) If G, b, ¢ are constant vectors, then show that
F=dt® + bt +¢ is the path of a particle moving with
constant acceleration. 4
SECTION-II
A fry 1d o,
4. (a) Show that div == T (ref(r). 4
axr -a 3r ..
(b) Prove that curl —5— ==t (ar). 4
r r r

5. (a) If f and ¢ are two vector point functions then prove

that Vx(fxg)=f (Vg -FVe+5Vi-g(V.f).
4

1474/11,100/KD/898 2

(b) Show that div (grad)r® = V2 = n(n + 1)r2 where
r= x~+.<N+NN. 4
SECTION-III
6. (a) If (r. 6, 0) are spherical coordinates, show that
<$uu<x§%§v. 4
x% +y?
(b) Provethatu=uxy, v = — w = z are not orthogonal.
4
7. (a) Express the velocity 3 and acceleration g of a particle
in cylindrical coordinates. 4
(b) Express the vector xi+2yj+ yzk in spherical
coordinates. . 4
SECTION-~1IV
8. (a) Find the work done in moving a particle in a force field
f=3x% +(2xz - y)j+ zk along the line joining the
points (0, 0, 0) to (2, 1, 3). 4
(b) Evaluate .: f.hdS for f=dxzi — y*j + yzk for the
S
surface S of a cube bounded by x=0,x=1,y=0,y=1;
z=0,z=1. 4
1474/11,100/KD/898 3 [P.T.O.



OQ

(a)

(b)

What do you mean by Mean free path of the molecules
of a gas ? Derive expression for it, and show that the
mean free path is directly prorpotional to temperature
and inversly proportional to the pressure of a gas. 4

Discuss transport phenomenon is gases. Show that the
coefficient of thermal conductivity varies directly as the
square root of absolute temperature and inversely
proportional to square root of the mass of the molecules
of the gas. 4

1477/12,100/KD/48 4

Roll No

Time

Note
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Total Pages : 4
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GSE/M-18
PHYSICS

(Properties of Matter and Kinetic Theory of Gases)

: Three Hours]

(a)

(b)

(c)

(d)

(a)

Paper-1

[Maximum Marks : 40

Question No. 1 is compulsory. Attempt four other
questions, selecting one question from each unit. Non-
scientific calculator and log tables are allowed.

Compulsory Question

Two bodies of same mass and same radius moving with
same angular speed can have different kinetic energy.
Explain using mathematical relations. 2

How would it affect the maximum load that a wire can
support, when its length is cut to half ? 2

What will be the change in (i) pressure, and (ii) total
energy of a gas in a closed container if the number of
molecules of the gas is doubled ? 2

Explain using mathematical relation, how will mean free
path of a gas changes with change in temperature and
pressure of the gas. 2

UNIT-I

Obtain expression for the moment of inertia of a hollow
cylinder (i) about its own axis, (ii) about an axis passing
through its centre and perpendicular to its axis. Calculate
radius of gyration in each case. 5

[P.T.O.



(b)

(b)

(b)

What do you mean by Torque ? Show that rate of doing
work on a rotating body is equal to the product of torque
and anglular velocity of the body. 3

A sphere, a disc, a spherical shell and a ring of same
mass and radius are allowed to roll down on an inclined
plane simultaneously. Calculate the acceleration in each
case and hence show that sphere reaches down first and
the ring last. 5

Define the term Radius of gyration. Calculate the kinetic
energy and moment of inertia of a rotating body in terms
of radius of gyration. 3

UNIT-II

Define and explain the terms, Young's modulus Y, Bulk
modulus K and Modulus of rigidity n. Also prove the

MK

relation Y = wlw.ﬂm

Calculate the work done in twisting a steel wire of
diameter 4 mm and length 1.0 metre, through an angle
of 30°. The modulus of rigidity of steel is 2 x 10!!
Nm™2. 2

Explain the term Bending moment. Derive an expression
for the depression of a centrally loaded beam supported
at its ends. The weight of the beam is supposed to be
negligible. 4

1477/12,100/KD/48 2

(b)

(b)

(b)

(b)

Describe the theory for determining the various elastic
constants by Searle's method. 4

UNIT-III

Explain the critical constants of a gas using Vander
Waal's isotherms. Calculate the value of critical constants
in terms of gas constants a and b. 5

Calculate the specific heat of monoatomic, diatomic and
triatomic gases using law of equipartition of energy. 3

What are the main assumptions of kinetic theory of
gases 7 Derive an expression for the pressure of gas in
terms of its kinetic energy. Also give the kinetic
interpretation of 88@,0888 from this theory. 5

Calculate the degree of freedom associated with 8.0 gm
of helium at N.T.P. Also calculate the energy required
to raise its temp. from 27°C to 77°C.

Give K = 1.38 x 10716 ergs / degree and Avogadro
Number = 6.02 x 1023, ; 3
UNIT-1V

Deduce Maxwell's law of distribution of speed and hence
obtain the expression for mean speed and r.m.s. speed in
gases. 6

Calculate the value of meww and the maximum value of
probability P(C)_,.  for hydrogen at 400 K where
K = 1.38 x 10716 ergs/degree. 2

1477/12,100/KD/48 3 [P.T.O.
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GSE/M-18 1478

PHYSICS
(Semiconductor Devices)
Paper : II
Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all, selecting one question from
each unit. Question No. 1 is compulsory.

Compulsory Question

1. (a) Explain two Barkhausen conditions required for sustained
Oscillations. 2

(b) Write advantages and disadvantages of negative
feedback. 2

(¢) A transistor has a typical o of 0.967. If the emitter current
is 10 mA, what is the value of base current. 2

(d) Sketch V-I characteristic of a NPN transistor is CE
configuration and indicate the different regions of

importance. 2
UNIT-1
2. (a) Explain the formation of depletion region in an open
circuit pre junction. 3
(b) Explain the working of LED and photodiode. 3

(¢) What are mobility and conductivity ? Obtain an
expression for conductivity of doped semiconductor. 2

1478/12,100/KD/49 [P.T.O.



OR

3. (a) Describe L-type filter. Find expression for its ripple
factor. 3
(b) What is doping ? Explain how doping can increase the
conductivity of pure semiconductor. 3
(c) A certain regulator has a no-load output voltage of 6 V
and full-load voltage of 5.82 V. What is the present load
regulation ? 2
UNIT-II
4. (a) Explain the working of a npn transistor. 3
(b) Can emitter and collector be interchanged in a transistor ?
Explain. 3
(¢) Define stability factor of a transistor. 2
OR
S. (a) What are the advantages of CE configuration over CB
and CC mode ? 3
(b) Derive relations between o, B and v in case of transistor.
3
(¢c) Give applications of CC configuration. 2
UNIT-III
6. (a) Discuss the merits and demerits of CB amplifier. 3
(b) Find an expression for voltage gain of a feedback
amplifier. 5
OR
1478/12,100/KD/49 2

(b)

(b)

(b)

Show that the negative feedback increases the band with
of a RC coupled amplifier, 4

A given cascaded amplifier has the following voltage
gains : AV, =10, AV, = 15 and AV, = 20. What is the

overall gain ? Also express each gain in decibles. 4
UNIT-IV

Discuss principle, construction and working of a CRO.

6

Explain the criterion for Sustained Oscillations. 2

OR

Give the circuit diagram of Hertley oscillator. How does
the circuit maintain unclamped sinusodial oscillations ?
5

What is the role of LC tank circuit is an oscillator ? 3

1478/12,100/KD/49 3
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GSE/M-18 1479

CHEMISTRY
(Inorganic Chemistry)
Paper - IVCH-104

Time : Three Hours] [Maximum Marks : 32

Note : Question No. 1 is compulsory. In addition to Question
No. 1 attempt four more questions selecting atlest mwo
questions from Section A and B.

1. (a)
(b)
(c)
(d)
(e)
()
(g)
(h)

Compulsory Question
What is the other name given to dipole-dipole forces.
What is doping ?
Why alkali metals act as strong reducing agent ?
Which hybridization is involved in XeF, ?
What is aqua regia ?
Write down the formula of caro's acid.
Name other allotropic form of oxygen.
Which factor is responsible for non-metallic character
of halogen ? (1x8=8)

SECTION-A
Explain the difference between inter-molecular
hydrogen bonding and intra-molecular hydrogen
bonding. 2

1479/9,550/KD/50 [PT.O.



(b)

Why acetic acid exists in dimeric form ? 2

(¢) What is semiconductor ? What is the effect of
temperature on semiconductor ? 2
3. (a) Explain lithium ion is the best reducing agent in
aqueous solution. 2
(b) NaOH is a stronger base than Ba(OH),. Explain. 2
(¢c) What are crown ether and cryptates ? Write their unique
characteristics. 2
4, (a) Explain why lithium forms oxides, sodium forms
peroxides and potassium forms superoxides. 2
(b) Discuss the salvation tendency of s-block elements. 2
(¢) Write the function of alkaline earth metals in biosystems.
2

5. Draw and discuss the structure of the following :
(a) XeFy. 2
(b) XeOF,. 2
(c) XeO,F,. 2

SECTION-B

6. (a) Discuss the action of diboran with ammonia and with
alkalies. 2
(b) Draw the structure of diboran on the basis of three
centre electron pair bound. 2
(c) Electron affinity of chlorine is more than fluorine.

Why ? 2

1479/9,550/KD/50 2

7. (a) Discuss orthosilicates and pyrosilicate with

examples. 2

(b) Why CCI, resists hydrolysis but SiCl, get

hydrolysed ? 2

(¢) What are methanides ? How do they differ from

acetylides ? Give one example of each. 2

8. (a) Why are pentahalides more covalent than

trihalides ? 2

(b) Draw the structure H,PO, and HNO,. Also give their

basicities. 2

(¢c) Differentiate between ‘the structures of white

phosphorous and red phosphorous. 2

9. (a) What are interhalogen compounds ? Discuss their

general characteristic. 2

(b) I, is soluble in water but readily dissolve in KL

Why ? 2

(c) Explain the acidic order among the HCIO, HCIO,,

HCIO, and HCIO,. 2
1479/9,550/KD/50 3
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GSE/M-18 1481

CHEMISTRY
(Physical Chemistry)
Paper—V(CH-105)

Time : Three Hours] [Maximum Marks : 32

Note : Attempt five questions in all. Question No. 1 is
compulsory. Select nvo questions from each section. All
questions carry equal marks.

Compulsory Question
1. (a) Define the term Threshold energy and Activation
energy. 2
(b) Define Buffer index. 1

(¢c) What is the difference between Order and
Molecularity ? 1

(d) Express the rate of reaction in terms of appearance of
product and disappearance of reactant of the reaction

30, — 20,. 1

(e} Why specific conductivity decreases when dilution of

solution increases ? 2
(f) State Ostwald dilution law, 1
SECTON-A

2. (a) What is Collision theory for unimolecular reaction ?
3

1481/9,650/KD/52 [P.T.O.



(b)

(b)
(©)

(b)

(b)

A first order reaction is 40 complete in 50 minutes.
Calculate the time in which reaction be 80% compiete.
3

What is Rate of Reaction 7 Explain any three factors
on which rate of reaction depends. 3

to

What are the characteristics of First order reaction ?

[

What do you mean by Halr life of yeaction ?

The slope of Arrhenius piot is found o be =761C K.
Calculate activation energy of the reaction. 2
What are Second order reactions ? Find the expression

for rate constant of second order reaction. 4

What are the different methods of determination of order
of a reaction ? 3

_—

[ 3]

Prove that 7 . = — 7.
T

What are Psuedounimolecular reactions ? Give
examples. 1

- SECTON-~B

State and explain the three applications of Kohlrausch
law. . 3

Write a short note on Electrophoretic effect. 3

1481/9,650/KD/52 2

7. (a) What kind of plots are obtained for the following
conductometric titrations :
(1) HCI vs. NaOH
(ii) CH,COOH vs. NaOH
(i) AgNO; vs. KCL
Give reason.
(b) Derive Henderson-Hazel equation for acidic and basic
buffer solutions. , 2
8. (a) What are Buffer solutions and Buffer action 7 Explain.
(b) The specific conductivity of 30 solution of KCl 18
0.002765 Q-! cm~L. If the resistance of the same
solution is 200 Q. calculate its cell constant and molar
conductance.
9. (a) What are the factors upon which transport number
depends ? 3
(b) Define pH and derive pH + pOH = 14. JR%)
(¢) Write the main postulates of Arrhenius theory. 1Yz
1481/9,650/KD/52 3



(b) What is Markownikoff's rule ? Explain with suitable
example.
(c) Give the mechanism of dehydration of n-butyl alcohol
with conc. H,SO,. 2
7. (a) Complete the reaction and give its mechanism
CH;-CH,-CH=CH,+Hg(OCOCH,), _THE-H0 .
(b) Explain 1,2 hydride shift with suitable example. 2
(¢) Complete the reactions
HLC AN Zn{H,0
nj;!
() _C=CH—CH;+0; > X >Y
H.C
(i) CH3-CH=CH - CH,
04/CH,Cl H,0, ,
ek X — Y.
8. (a) Benzene is unsaturated hydrocarbon, yet it fails to give
Baeyer's test why ? 2
(b) Why halogen are ortho-paradirecting though they are
deactivating in nature. 2
(¢) [10] Annulene contain 107 electrons but it is not
aromatic. Why. 2
9. (a) Discuss the mechanism of nitration of Benzene. 2
(b) Define Huckle rule aromaticity with suitable examples.
2
(¢) What are aromatic, antiaromatic and non-aromatc
compounds, give examples also. 2
1483/9,650/KD/54 4
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1483

GSE/M-18

CHEMISTRY
(Organic Chemistry)
Paper : VI, CH-106

Time : Three Hours] [Maximum Marks : 32

Note : Attempt five questions in all. Question No. 1 is compulsory,
selecting at least rwo questions from each section.

Compulsory Question

1. (a) Complete the reaction.

CH,;
| H® Peroxide
H,C—C—CH—CH; > X + H,0 ————>Y

|
CH; OH

(b) Pickout aromatic and non-aromatic among the following :

AQURO

(¢) Give the product of hydroboration-oxidation of
3,3-dimethyl-1-butene reaction.

(d) What do you understand by the term orientation.

1483/9,650/KD/54 [P.T.O.



(e) Give the IUPAC name of (b) Differentiate between mw and mzN reactions.
2
CH3;—CH—C=C—CH;
| (¢) Why aryl halides are less reactive than alky! halides in
CH; nucleophilic substitution reactions. 2
(f) Draw energy profile diagram of Sy, and mm. reactions. 4. (a) Why terminal alkynes are more acidic in nature ? Explain
(g) Why allyl holides are more reactive than alkyl halides. with examples. | 2
(h) What happens when 2-butyne is treated with sodium in ®) UHmQ.;m the am.wﬂ of SMEU. on 1,2 and 1,4 addition
liquid ammonia, (1x8=8) reactions of conjugated dienes. 2
(c) Give the mechanism of addition of CH,OH to ethyne.
SECTION-A 2
2. (a) Complete the reaction and give its mechanism. 5. (a) Give the mechanism of the reaction of addition of BrCCl,
to 1,3,-butadiene. 3
C¢H,Cl + NaNH, —%=28 5 2 3 (b) Complete the reactions
(b) Give the product of the following reactions : P CHO
| w Ce il —
(i) CH,COOAg —222
L Na/Ni
(ii)) C¢HsCH, Cl —Epom— (i) CH;~-C=C-CH; +H,———
. + =
(V) 2C.H.I+2Cu —A s 5 (iv) CH=CH +2[Ag(NH,),]" OH — 2
6515
(¢) Convert benzyene diazonium chloride into chloro- (©) What maa the mmo.ﬂoa Which favours Diets Alder reaction
benzene. 1 of conjugated dienes. 1
3. (a) Explain Why mm reactions of alkyl halides are SECTION-B
accompanied by partial racemization. 2 6. (a) Why dehydration of alcohols is carried out with H,SO,
and not with HNO, and HCL 2
1483/9,650/KD/54 2 1483/9,650/KD/54 3 [P.T.O.
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. GSE/M-18 1485

ENGLISH

Time : Three Hours) [Maximum Marks : 40

Note : Attempt all questions.

1. Read the following passage and answer the questions given at
the end :

Yet another defect in our civilization is that it does not know
what to do with its w:os;mamn. Science as we have seen, has
given us power fit for the Gods, yet we use them like small
children. For example, we do not know how to manage our
machines. Machines, as I have already explained, were made
to be man'’s servant; yet he has grown so dependent on them
that they are in a fair way to become his masters.

(i)  What is the great defect of our civilization?
(i) What has science given us?

(ii1) How we are using science today?

(iv) For what purpose were the machines made?

(v) What have machines become today? 5
OR

A man fights another : One wins, one loses. It is the same
with armies. Both men and armies gain victory by risking’
defeat. Each soldier knows it could be him lying on the ground,
1485/9,100/KD/56 [P.T.O.



that the cost of trying to kill another is that one might. oneself,
be killed. No more. American warplanes and missiles have
allowed on nation to bring grievous destruction to another—at
no cost, actual or potential. The intervention of machines has
made it possible to evade reciprocity, to escape the symmetry
that has always characterized military engagement.

(1) How do men and armies gain victory ?
(i) What does each soldier know in the battlefield ?

(iii) Which nation brought about a big change in warfare
means ?

(iv) What has always been a feature of military attack ?
(v) Find words from the passage which mean the same as :
(a) Serious.

(b) reciprocity.

Explain with reference to the context :

So far as putting a lid on a child's curiosity is concerned,
Indian schools have been no different. Children are encouraged
to memorize the text as well as the answers to questions raised
by therein, regardless of whether they understood the subject
matter or not. Their schools hardly provide suitable outlets to
their spontaneous questions in case they didn't. 3

OR

The argument based on the interpretation of Manu's text is
too intellectual for the ordinary uneducated Hindu. He knows
only two things. One thing he knows is that there are three

1485/9,100/KD/56 2

barriers in the matter of social intercourse which he must
observe. They are (i) probation against inter-dining,
(i) probation against inter-marriage, while in untouchability
there is the third barrier added and (iii) prohibition against
physically touching certain class of people. The first two
barriers make up the caste. The third forms untouchability.

Answer any four questions in about 30 words each :

(1)  What does the writer say about the distribution of wealth
in the world in "Qur Civilization"?

(i) What is the disadvantage of rote learning?
(iii) How would Dr. Bernard like to be remembered?
(iv) Explain the principal of graded inequality.

(v) Who are the two great war poets, the writer refers to in
the essay "Inhumanization of War"? Which war did they
write about?

(vi) What is the reference of TV serial 'Yes Minister' in the
essay "Seven Types of Gender Inequality"? (4x1v%=6)

What is Dr. Barnard's view on apartheid? What were the
consequences of expressing his views publicly? How were
the white citizens of South Africa also affected by it? 6

OR

Highlight the seven types of gender inequality as discussed
by Prof. Amartya Sen.

1485/9.100/KD/56 3 [P.T.O.



Translate the following passage into Hindi :

Life in a big city is a life of the heaven for the richest persons,
who have ability to do anything. The big city like metro towns
promise job, facilities of higher education, medical facilities,
better society of educated persons, and many opportunity to
make carrier. There are high rise buildings, pucca roads.
Picture halls and clubs. Life is very fast. All these things attract
people to live here instead of the life of countryside. The big
city suits only a fat purse. The weaker sections live in dirty
slums or on roadside. For the poor, a big city is a hell in spite
of heaven. There is every mean of comfort but not fresh air,

the most big cities are polluted. 5
OR
(For Non-Hindi speaking/Foreign students only)

Read the following passage and answer the questions that
follow :

The New Year is the time for resolution. Mentally. at least
most of us could compile formidable lists of 'do's' and 'don'ts’.
The same old favourites recur year in and year out with the
children, do a thousand and one job about the house, be nice
to people we don't like, drive carefully, and take the dog for a
walk every day. Past experience has taught us that certain
accomplishments are beyond attainment. If we remain deep
rooted liars, it is only because we have so often experienced
the frustration that results from failure.

1485/9,100/KD/506 4

Most of us fail in our efforts at self improvement.because our
schemes are too ambitious and we never have time to carry
them out. We also make the fundamental error of announcing
our resolution to everybody so that we look even more foolish
when we slip back into our bad old ways. Aware of these
pitfalls. this year [ attempted to keep my resolution to myself.
I limited myself to two modest ambitions, to do physical
exercise every morning and to read more in the evening. An
overnight party on New Year's Eve provided me with a good
excuse for not carrying out either of these new resolutions on
the first day of the year, but on the second, I applied myself
assiduously to the task.

The daily exercise lasted only eleven minutes and | proposed
to do them early in the morning before anyone had got up.
The self discipline required to drag myself out of bed eleven
minutes earlier than usual was considerable. Nevertheless, |
managed to creep down into the living room for two days
before anyone found me out. After jumping about in the carpet
and twisted the human frame into uncomfortable positions. I
sat down at the breakfast table in an exhausted condition. It
was this that betrayed me. The next morning the whole family
trooped into watch the performance. That was really unsettling
but I fended off the taunts and jibes of the family good
humouredly and soon everybody got used to the idea.
However, my enthusiasm waned, the time [ spent at exercises
gradually diminished. Little by little the eleven minutes fell
to zero. By January 10th I was back to where I had started
from. I argued that if I spent less time exhausting myself at
exercises in the morning. I would keep my mind tresh for

1485/9,100/KD/56 5 [P.T.O.



reading when I got home from work. Resisting the hypnotizing
effect of television, I sat in my room for a few evenings with
my eyes glued to a book. One night, however, feeling cold
and lonely, I went downstairs and sat in front of the television
pretending to read. That proved to be my undoing, for I soon
got back to the old bad habit of dozing off in front of the
screen. I still haven't given up my resolution to do more
reading, In fact, I have just bought a book entitled 'How to
Read a Thousand Words a Minute'. Perhaps it will solve my
problem, but I just have not had time to read it.

(a)  Why most of us fail in our efforts for self-improvement?

(b) Why is it a basic mistake to announce our resolution to
everybody?

(¢) Why did the writer not carry out his resolution on
New Year's Day?

(d) Find out the words in the above passage which convey
the similar meaning to the following :

(i) Drawbacks.

(ii) Decrease.

Make a précis of the following passage and provide it with a
suitable title

When we survey our lives and efforts we soon observe that
almost the whole of our actions and desires are bound up with
the existence of other human beings. We notice that whole
nature resembles that of the social animals, We eat food that
others have produced, wear clothes that others have made,

1485/9,100/KD/56 6

live in houses that others have built. The greater part of our
knowledge and beliefs has been passed on to us by other people
though the medium of a language which others have created.
Without language and mental capacities, we would have been
poor indeed comparable to higher animals.

We have, therefore, to admit that we owe our vazo.:um_
knowledge over the least to the fact of living in human m.oo._m.a\.
The individual if left alone from birth would remain primitive
and beast like in his thoughts and feelings to a degree that we
can hardly imagine. The individual is what he is m:.a. has .Ea
significance that he has, not much in virtue of the Ea::a:m:.?
but rather as a member of a great human community, which
directs his material and spiritual existence from the cradle to

7

grave.

7. Write a letter to the Editor of a newspaper about your views
on demonetization and Indian economy. 8

OR
Write a letter to the District Health Officer about the insanitary
conditions in your locality.
1485/9,100/KD/56 7
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GSE/M-18 1488

BOTANY
(Diversity of Archegoniates)
Paper : I
Time : Three Hours] [Maximum Marks : 40

Note :

Attempt five questions in all, selecting two questions from
each unit. Question No. 1 is compulsory. (Short answer
type) Draw neat and well labelled diagrams. All questions
carry equal marks.

Compulsory Question

1. Write short answer of the following :

(a)
(b)

(©)
(d

(e)
63)
€9)

()

What do you mean by rhizophore ?

What is autoecious moss ? Give one example which
you have studied.

What is siphonostele ?

Name two species of MARCHANTIA found commonly
in India.

From where were the fossils of RHYNIA discovered ?
What is false indusium ?

Name two types of canals found in the stem of
EQUISETUM.

What is the use of oblique septa in the rhizoids ?

AwXHHmv
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UNIT-I

2. Give a detailed account of economic importance of
Bryophytes. 8
3. Give an illustrated account of sporophyte of ANTHOCEROS
and compare it with that of MARCHANTIA. 8
4. (a) Describe the structure and position of sex organs in
FUNARIA. 5
(b) Give the structure and functions of peristome in
FUNARIA. 3
5. Give an account of External morphology and anatomy of
gametophytic thallus of MARCHANTIA. 8
UNIT-II
6. (a) Describe the structure of female gametophyte of
SELAGINELLA. 4
(b) What do you know about the spore producing organs
of SELAGINELLA ? 4
7.  Write notes on :
(a) Sporangium of RHYNIA. 4
(b) Pteridophytes as first varcular plants. 4
8. (a) Draw a well labelled diagram of T.S. rhizome of
PTERIS. 4
(b) Describe the sex organs and act of fertilization in
PTERIS. 4
1488/3,100/KD/59 2

(a)

(b)

Explain the structure of gametophyte of EQUISETUM

in brief. 5
EQUISETUM possesses both hydrophytic and
xerophytic characters. Explain it. 3

1488/3,100/KD/59 3
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BOTANY
(Genetics)
Paper : II

Time : Three Hours] [Maximum Marks : 40

Note

1.

1489/3,100/KD/60

: Attempt five questions in all. Question number 1 is
compulsory. Select rwo questions from each unit. All
questions carry equal marks.

Compulsory Question

Define the following :
(a) Phenotype.

(b) Introns.

(¢) Clone.

(d) Linkage.

(e) Multiple Allele.

(f) Plasmid.

(g) Codon.

(h) Heredity. (1x8=8)
UNIT-I

Describe the structure of DNA. 8

Describe Mendel's Laws of segregation and independent
assortment. 8

[P.T.O.

Define Allelic and Non-Allelic gene interaction, and explain
supplementary gene interaction. 8
Write in brief on the following :

(a) Nucleosome.

(b) Properties of Genetic code. (4+4=8)

UNIT-1I

Give a concise account of Inducible and Repressible operon.
8

What are Induced mutations ? Give a brief account of the
various physical and chemical mutagens. 8
Write short notes on the following :
(a) Extra nuclear inheritance,.

(b) Transposable genetic elements. (4+4=8)

Give the role of the following in protein synthesis :
(a) m-RNA.

(b) t-RNA.

(¢) r-RNA.

(d) Ribosomes. (2+2+242=8)

1489/3,100/KD/60 2
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GSE/M-18 1490

ZOOLOGY
(Life and Diversity from Annelida to
Arthropoda and Genetics-I)
Paper : 1

Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all, selecting two questions from
each section. Question No. 1 is compulsory. Draw diagram
wherever necessary.

Compulsory Question

1. Answer the following :

(a) Clitellum.

(b) Chlorarogen cells.

(c) Protopodite.

(d) Haemolymph.

(e) Diapause.

()  Pleiotropy.

(g) Free-martin.

(h) Criss-cross inheritance.

(1) Plasmon.

() Non-disjunction. (1x10=10)

SECTION-A

2. (a) Describe the structure of body wall in Earthworm.
(4%2)

1490/3.250/KD/61 [P.T.O.



(b) Describe the process of cocoon formation in Earthworm.

3
Write in brief on :
(a) Sense organs in Earthworm. 4
(b) Septal Nephridia. 3

Describe the respiratory organs and mechanism of respiration
in cockroach. V2

Write note on :

(a) Digestive glands of Cockroach. 4
(b) Ootheca formation in Cockroach. R1%)
SECTION-B

What is Epistasis ? Differentiate between dominant and
recessive cpistasis with suitable examples. TVa

Write note on :

(a) Interference and Coincidence. 31,
(b) Coupling and Repulsion hypothesis. | 4
What is cytoplasmic inheritance. Explain the inheritance of
dextral and sinistral coiling in Snail. 7v2
(a) Explain the law of Independent assortment. 4

(b) Explain the role of environment on determination of
sex in Bonellia. RI%)
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GSE/M-18 1491

ZOOLOGY
(Life and Diversity of Mollusca
to Hemichordata-Genetics )
Paper : 11

Time : Three Hours] [Maximum Marks : 40

Note : Question No. 1 is compulsory. Attempt four questions
from section A and B. Selecting at least nvo questions
from each section.

(Compulsory Question)

1. (a) What is osphridium ?
(by Explain Tortian.
(¢) What is Tubefeet ?
(d) What is Bivium ?
(e) Define BZNA,
(f) What are okazaki fragments ?

(g) Define DNA finger printing.
(h) What is Phenylketonuria ? (1x8=8)

SECTION-A

2. (a) Describe digestive system of Pila.

(b) What is the significance of Detortion ? (5+43)

1491/3.250/KD/62 [P.T.O.

Give an account of water vascular system in Asterias.

(b) Describe Trochophore Larva. (5+3)
4. (a) Explain Respiration in Pila.
(b) Draw a well lebelled diagram of Asterias through arm
and central disc (Diagram only) (5+3)
5. (a) Explain Haemal System in Asterias.
(b) Describe the affinities of Hemichordates with the
Echino-derms. 5+3
SECTION-B
6. (a) Explain ABO blood group in human beings, and its
inheritence.
(b) Describe Phenylketonuria. (5+3)
7. (a) Write a brief account on formation of nucleotide and
polypeptide chain. (5+3)
(b) Explain Semi conservative mode of DNA Replication.
8. (a) Describe genetic code. Explain various features of
Genetic Code.
(b) Explain Kline felter's syndrome. (5+3)
9. (a) Explain Translocation.
(b) What is prenatal diagnosis ? (5+3)
1491/3.250./KD/62 2



UNIT-1V

8. (a) Differentiate between BJT ad FET. 4

(b) Discuss Drain characteristic of JFET. 4

9. (a) Discuss construction ot Depletion MOSFET. 3

(b) Design and discuss small signal low frequency FET

model. 5
1494/700/KD/65 4
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GSE/M-18 1494

ELECTRONICS
(Electronic Devices and Circuits-I1)
Paper : I (Theory)

Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all. Select one question from each
unit. Question No. [ is compulsory.

Compulsory Question
1. (a) Why operating point of a transistor is selected in the
mid of Active Region ?

(b) What is the function of Emitter Resistor in “Bias Circuit
with Emitter Resistor”?

(c) What do you mean by Direct Coupling ?
(d) What do you mean by inversion layer in Enhancement

MOSFET ? (2x4)

UNIT-1

W

2. (a) What do you mean by bias stabilization ?

(b) Discuss biasing arrangement for a Fixed-Bias Circuit.
5
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»

[£3

(a) Discuss Thermal Instability in detail. 4
9 +Vee = 10V
(b)  Calculate the highest value of R permissible in the
following circuit : 4 e '
Ry =100 kQ
“+<,,w =40V
| R.=1kQ
m 5
< <
3 ST RQ
0GR ¢ Ry w
<
| m
| =
| -
_ i .
b =20 Ve =08V 3R =50
UNIT-III
UNIT-11 e . -
6. () v tall in high frequency range is two stage RC
. e o : amplifier ? 3
s st UHias Cocutt wath Emitter Resistor™ and Derive phtier
i for Q point. 5 (h) working of two stage Transformer Coupled
5
Ss used 1o express gomn of Amplifiers 7 3
7. i
alent et for Volage Divider
: 4
thy
rents ot voltige Ve 1 the
4
RUR 3 (P.T.0




(b) Find out Z-parameters of the following circuit : 4

[N

UNIT-1V

8. (a) Show the parameters of Two-port network in series. 5

(b) What is the Lattice equivalent of a symmetrial

T network ? 3

1 AN AVAVAV N ]
1Q 1 Q

2Q

~e

1 4 &

9. (a) Derive the output impedance of two-port network with
load resistance Zg at the input in terms of Z-parameters.
5
(b) Calculate the input impedance of the following network
in terms of Z-parameters : 3
1 4Q -
NN AN £ <
3Q 1
+ 2Q 20 40
v. O
b X
~ b -
1495/700/KD/66 4
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GSE/M-18

ELECTRONICS
(Network Analysis)
Paper-II

[Maximum Marks : 40

Note : Question No. 1 is compulsory. Attempt one question from

each unit.

Compulsory Question

1. Attempt all the following :

(a)

(b)

(©)
(d

What do you understand by Open-circuit voltage and
Short-circuit current ? . 2

What should be the condition for source

transformation ?
2

What is the condition for maximum power transfer 72

Why admittance parameters are also known as short-
circuit parameters ? 2

UNIT-I

Using Superposition theorem calculate, the current 6 Q
resistance in the AB branch of the circuit given below :
4

VT ~20V
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(b) How a Star network is converted into Delta network ?

3. (a) Explain KCL and KVL.

(b) Discuss Node method for the given network :

UNIT-II

4

4. (a) Draw Norton's equivalent of the network, and find the
current in 2 Q resistance :

9V

1495/700/KD/66

1 Q

VAVAVAVAY
62

1

AMAA
3V

3Q

S

7.

(b)

(@)

(b)

(a)

(b)

(@)

How much value of load resistance is required for
maximum power transfer ? 3
—AMAA o AAAA
2Q 6 €
6V 4Q R,
_
What do you understand by Duals and Duality ? Explain.
4
Calculate the load current I} of the circuit using
Milliman's theorem : 4
L
1Q 60 $O 20 Q
2V T T 8V .._.. 10V
UNIT-I11
What do you understand by Two-port system ? Explain.
2
Draw the circuit of transistor in CB configuration and
find out the open circuit parameters. 6
Define Transmission parameters. 4

1495/700/KD/66 3 [P.T.O.
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GSE/M-18 1496
COMPUTER SCIENCE
(Programming in C)
Paper : I

Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all, selecting one question from

each unit. Question No. 1 is compulsory. All questions
carry equal marks,

Compulsory Question

1. (a) Differentiate between gets () and puts () functions.
(b) Define switch statement giving its syntax with Example.
(c) Differentiate between Call by value and Call by reference.

(d) Differentiate between structure and union. (4x2=8)
UNIT-I

2. (a) Describe the structure of C program with Example. 4

(b) What is the purpose of scanf() and printf() functions.

4

3. (a) What is variable ? How variables are declared in ‘C’ ?
What is the lifetime and scope of a variable. 4

(b) Describe various data types available in ‘C’. 4

1496/3,200/KD/67 [P.T.O.

UNIT-II

4. Explain the following :
(a) Operator precedence and Associativity. 4
(b) ELSE-IF ladder with Example. 4
5. (a) Explain go to statement. Why go to statement is avoided
in ‘C’ program ? 4

(b) Write a program in C to find largest among four
numbers. 4

UNIT-III

6. What is loop ? Describe various looping constructs available

in ‘C’ Language. 8

7. Whatis a function in ‘C’ ? Explain how parameters are passed

between two functions. 8
UNIT-1V

8. What is an Array ? Explain initialization and processing of
one and multidimensional array with an example. 8

9. Difference between :

(a) Formal parameters and Actual parameters. 4
(b) Auto and Register storage class. 4
1496/3,200/KD/67 2



Total Pages : 2

GSE/M-18 1498

COMPUTER SCIENCE
(Logical Organization)
Paper : II

Roll NO. i

B.Sc.: 40

Time : Three Hours] [Maximum Marks : BA.:25

Note : Attempt five questions in all, selecting one question from
each section. Question No. 1 is compulsory. All questions

carry equal marks.

Compulsory Question

1. (a) Convert Hex no (IBCE) into binary.
(b) Define Boolean algebra.

(¢) How NAND gate works as universal gate ?

(d) Define combinational circuits. (4x2=8§,
1.25%x4=5)
UNIT-1
2. (a) Explain floating point representation of numbers.
4,2%
4,2%2

(b) Write a note for BCD code.

3. ExplainI's and 2's complement methods of binary subtraction
with example also explain the difference between them. 8,5

1498/3,200/KD/69

[P.T.O.

UNIT-II

4.  Simplify the following Boolean equations using Boolean

(a) Y=(A+B)(BC+C). 4,2V

1 /R

(b) Prove that (A+B)(A+C)=A+BC. 4,21

5. (a) Define Karnau
gh map? What are th
KM e rules to RMMM,\M
(b) What is don't care state? Explain, 4,2
UNIT-I11

6. Explain the term multi
plexer? Draw the di
multiplexer. . " g of 4 HM M

7. What do you mean b
. y full subtractor ? Explain wi
diagram and truth table. ’ e Ewow

UNIT-1V

8.  Explain the workin i
g of clocked SR flip-flop? Als in i
problems and its solution. ’ ’ memEm:M

9. What is counter? Make mod -7 counter using T-flipflop
8,5

1498/3,200/KD/69 2



Roll

Time

Note

NO. e, Total Pages : 2

1500

GSE/M-18

COMPUTER APPLICATION
(Information Technology)
Paper-1

: Three Hours] [Maximum Marks : 40

: Attempt five questions in all. Question No. 1 is

compulsory. Attempt one question from each unit. All
questions carry equal marks.

Compulsory Question

Define the following terms :

(a) WWW,

(b) GPS.

(¢) Encryption.

(d) Virus. (2x4=8)
UNIT-I

Explain in detail the meaning of Port. Discuss Serial port,

Parallel port and USB port. 8

Define Mother board and Memory. 8
UNIT-II

Explain briefly the concept of Datamining and GPS. 8

1500/6,300/KD/71 [P.T.O.

Briefly explain the term OLAP and Electronic catalogues.

8
UNIT-III
6. Explain how Data compression takes place. Explain various
techniques involved in Data compression. 8
7. Explain the concept of MIDI, hardware aspects of MIDI and
structure of MIDI messages. 8
UNIT-1V
8.  What is the task of User agent in electronic mail ? 8
9. What do you mean by Computer network ? Explain the three
categories of networks. 8
1500/6,300/KD/71 2
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GSE/M-18 1502
COMPUTER APPLICATION
(Programming in C)
Paper - 11
Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all. Question No. 1 is
compulsory. Select one question from each unit. All
questions carry equal marks.

Compulsory Question

1. Answer all the following :
(a) Write a note on Decision table.
(b) Explain putch and getch.

(c) What is the use of continue statement ?

(d) Discuss unary operator in C. (2x4=8)
UNIT-I
2. Write a program in C for merge sort. 8

3. (a) What do you understand by Programming

methodologies ? 5

(b) Explain the concept of alogorithm. 3
UNIT-11

4. (a) Discuss the use of bitwise operators in C. 4

1502/6,300/KD/72 [P.T.O.

(b) Explain conditional operator in C.
Explain unformatted and formatted I/O function in C.
UNIT-III

(a) Explain various looping statements in C.

(b) Why we avoid Goto statement in programs ?

(a) Discuss ELSE-IF ladder in C.

4

(b) Explain the use of break and continue statements in

program.

UNIT-IV

4

(a) What are the m%m:ﬂ.mmom of functions ? Explain

prototype of a function.

(b) Write a program in C for matrix transpose.

4
4

(a) What are the various methods for passing parameters

in functions ?

4

(b) Explain the use of register shortage class with the help

of example.

1502/6,300/KD/72 2

4
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GSE/M-18 1506

BIOTECHNOLOGY
(General Microbiology)
Paper — II1
Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all. selecting one question from
each unit. Question No. 1 is compulsory.

Compulsory Question

1. Define/comment on the following

(i) TEM.

(i1)  Virons.

(iii)  Spontaneous generation.

(iv)  Synchronous growth.

(v)  Generation Time.

(vi) Bacteriophage.

(vil) UV radiations for sterilization.

(viii) Causative agent for cholera.

UNIT-I
2. (a) Why Antony Von Leeuwenhoek called as 'Father of
Microbiology' ?
(b)  Write note on Germ theory of diseases.

1506/850/KD/75 [P.T.O.

What is spontaneous generation ? Explain how Louis Pasteur
and J.F. Tyndell disprove the method.

4. (a) Give the principal and method of differential staining.
(b) Describe use of autoclave as a method of sterilization.
UNIT-II
5. (a) Explain flagellar arrangements is bacteria.
(b) Diagrammatically represent various shapes and
arrangements of bacteria.
(¢)  Describe photosynthetic apparatus in bacteria. 3,2,3
6. Write short notes on :
(i)  Dark Reaction.
(i)  HIV.
(iii) Function of capsule. 3.3.2
7. (a) Differentiate between the Gram positive and
Gram negative cell wall. 6.2
(b) What is synchronous growth ? How this can be
achieved.
1506/850/KD/75 2
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GSE/M-18 1507

BIOTECHNOLOGY
(Biochemistry-II)
Paper : IV

Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all, selecting rwo questions from
each section. Question No. | is compulsory. All questions
carry equal marks.

Compulsory Question

1. (a) Mention the names of the following :
(1)  Two flavoprotein dehydrogenases.
(i) Two membrane bound enzymes.
(iti) Two remarkable properties of enzymes.

(iv) Two amino acids with nucleophilic groups in side
chain.

(v)  Two peptide hormones. 5

(b) Define the terms :
(1)  Glycogenolysis.
(i1) Transamination.

(i) Ketogenic amino acids. 3

1507/850/KD/698 [P.T.O.



SECTION-A

2. (a) Define the term energy of activation. How do enzymes
influence this energy and progress of reaction ? 4
(b) Differentiate between reactions catalyzed by enzymes
of class Lyase and Hydolase. Explain with suitable
examples. 4
3. (a) How do pH and temperature of the medium affect rate
of enzyme catalyzed reaction? 4
(b) Differentiate allosteric enzymes from simple monomeric
enzymes for kinetics and regulation giving suitable
examples of each type. 4
4. (a) Give MM equation, MM graph and Lineweaver burk plot
for noncompetitive and uncompetitive reversible
inhibitions. 4
(b) Write structure of TPP and pyridoxal phosphate. Write
the names of enzymes and reactions for which these act
as cofactors. 4
SECTION-B

5. (a) "Anabolism is not simple reversal of Catabolism."
Explain. 4
(b) Write the reactions of TCA where carbon is lost as carbon
dioxide. Name the enzymes catalyzing these reactions.
4

1507/850/KD/698 2

6.

Give a detailed account of structure and functioning of enzyme

"Fatty acid synthase" in bacteria. 8
(a) TCA is an amphibolic pathway. Justify. 4
(b) Human beings cannot synthesize carbohydrates from

catabolic products of fatty acids. Explain why ? 4

1507°850.KD:698 3.
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GSE/M-18 1828
HUMAN PHYSIOLOGY
Paper III
Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting at least rwo
questions from each Unit. Q. No. 1 is compulsory. All
* questions carry equal marks. _
TIF THE | d W g0 gY, HA Ut T @ SW
T | wvT dew 1 s R 1 udt v @ siw
T T

Compulsory Question ( 3Tard ¥97)

1. Describe the following : 2x4
(@) Meiosis (b) Blood pressure
(¢) Functions of lungs (d) Reflex action.
Frfafea w1 auF S .
(37) Taeifam (3) &R
(9) Fwgl ® wH () wafda forar

Unit I (3&TE 1)

2. Describe the animal cell structure in detail. 8

g S # fGER ¥ 9vi wifse |

(3-14/12) -1828 P.T.O.



3.

i&m short notes on the following : | 4+4
(a) Functions of salivary glands

(b) Large Intestine.

Frerafed w e fowfiel fafen

(1) R gtedl & %l

(F) = M

Draw a well labelled diagram of Heart and write functions

of Heart. 16
T H o R @ wa w i fafau

Descirbe the following : 4+4
(a) Functions of heart

(b) Name and numbers of bones of vertebral column.
frafafen =1 avfa wifsg

(3) T & Fd

() g #1 gt ¥ feom wfeeal & 9= @ T |

Unit II (318 1I)

Explain the various parts of respiratory passage along

with functions in detail. 8

ﬁﬁﬂhﬂﬂ%%@?ﬂi%ﬁdﬁﬂ%ﬂ&
dfed famr @ v =ifST |

1-1828 2

7. Describe the structure and functions of kidneys in detail. 8
TR F FAER T wE W R ¥ 9ol s

8. Draw well labelled diagram of female reproductive
organs. 8
Afgenl Saa F1 Afes SR |

9. Explain the sense organs in detail. 8
FHA F fowR ¥ avl i

(3-14/13)1-1828 3 450
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~ GSE/M-18 1829
PRENATAL AND INFANT GROWTH AND
CARE

Course No. 112

Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting rwo- questions

from each Unit. Q. No. 9 is compulsory. All questions
carry equal marks. .

TH TEE A WS WA g9 85U, o ure wv @
SW AT | W Hem 9 afEd o ud g @

HF gOH € |
Unit I (3%TE 1)
1. Write short notes on the following : 4+4=8
(@  Conception (b) Prenatal development.

frafafas w dfyw frofrd fafag .
(30) A (1R (9) d-yme fawm

2. Discuss birth process and stages of delivery. 8
S WA SR W # steeensl ® smem wifw |

(3-14/14)L.-1829 P.T.O.



Write in detail the complications of pregnancy and suggest
their remedies. 8
TR H FHSAEA F fqeare G qen s g w @
% gaE dfee 1

Explain the factors affecting delivery process and also

mention different types of birth. 8
S gfEa @ gWIfad S 91 R 1 Seol@ HIfT

A s & o= TR W gEm S

Unit II (313 1I)

Explain common diseases during infancy and care to be
taken. 8
NI T i B B ) o o o S 2B
& SH Fell @S ® g0 Hifeg |

Write short notes on the following : 4+4=8
(@) Immunization

(b) Physical development during infancy.

freafafes w wfa femfogl fafew .

(31) AFH

(¥) VvmEen ¥ iR faw

Discuss in brief the physical characteristics of neonate. 8

Taoa fery #1 TRt faeivaet w Gfee s@g S

L-1829 ’ 2

8. Explain motor and social development of infant (0-2yrs). 8
SivrEreren (0-2 oY) § T TE GETTE fgeE W
SRS ST | .

Compulsory Question ( 3fard 9vT)

9. Explain the following : 2x4=8
(a) Reflex actions (b) Growth and development
(c) Prenatal development (d) Signs of Pregnancy.
fefafe =1 faero difsm .

(1) wfaedt faamd (3) gfg @ fawm
(9) gEyga T (%) TIfeen & A& |
(3-14/15)1 .-1829 3 400
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GSE/M-18 1830
LAUNDRY SCIENCE AND FINISHING OF
FABRICS

Course No. 113

Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting rwo questions
from each Unit. Q. No. 1 is compulsory. All questions
carry equal marks. .
YO THE W W D ¥ 9T 7Y, w uie vei @
SR AT | v gem 1 sfeE 2 o e @
dqF TE F

Compulsory Question ( 1@ gy)

1. Write briefly about the following : 4x2=8
"~ (a) Napping Finish
(b) Removal of Tea and Coffee Stain
(¢)  Use of scrubbing board
(d) Optical Brighteners.
frefafea = de 5 fafew .
(31) U I8m
(F) == qo FE F: g1 gErn
(9) TR a& H1 5
() o<wa sgeAg |

(3-15/1) 1.-1830 P.T.O.




Unit I (&8 1)

2. Write in detail about the washing and drawing
equipments. ‘ 8
FUS H YO H T FUS K gER & fom g oW
aed fafa= TFR & TR w1 faega S df |

3. Differentiate between soap and detergent. Discuss the
manufacture of soap. 8
A g feesiw d R W HNW | wEE e #®
fafa =1 faxmgds sl wifag |

4. Explain Oxidizing and Reducing bleaching agents in
detail. 8
HFFRE qUl AvEEE fsdl ® R d fawwgEs
S ST |

5. Explain different types of starches with their method of
preparation and application. 8
fafr= yor & = B s %) fafa g s w@E
#H & 9R ¥ fawnggs fafen |

Unit II (372 1)

6. Explain different methods of removing stains. Write the
classification of stains. 8
¥ e &t fafv= fafml & an o fofew | wsE w0
Ffiertor wifse |

L-1830 2

7.

Write in detail about the care and storage of woollen
clothes. 8
Sl T T T R TIE W WHF oA 2 AR A

1 FUH HITC |

What are the advantages of applying finishes on the
fabrics 7 Write about Mercerization. ¥
T W AT FH R O AW E 7 qEHIE E
et fF9 YR w1 SR € 2

Explain in detail about different physical finishes applied
on the fabrics. ' 8
FE W H W qedlt fafa= gwmR @ sifie afssel @
a1 ¥ fawangds fafem

(3-15/2) 1.-1830 3 456
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GSE/M-18 1831
INTRODUCTORY HOME §Z>Qm2mz1ﬁ
Course 114
Time : Three Hours] [Maximum Marks : 40 |

Note : Attempt Five questions in all, selecting two questions
from each Unit. Q. No. 9 is compulsory. All questions
carry equal marks. .
TOF TR A W S T g gY, R U Wl &
SW SR | Y\ "o 9 sfer § 1wl v @
F A ¥ | . .
Unit I G&T3 1)
1. Explain the objectives of Home-Management by defining
it. | v |
TE-E & Sl BT UM F g T ARG AT |

2. Write down the various steps involved in the process of”

Home-Management.
TE-ae & YR WgH g o fafv= =)ol & §R
H fafew |

(3-15/3) L-1831 P.T.O.



Discuss in detail the various stages of family life-cycle.

e Saa-a% &1 AT sereel &1 fa@r 9 9ue
EqiSi

Explain the abilities and responsibilities of an efficient

Home-maker.

TF B eV H A F S H1 AU HIT |

Unit II 3&TE 1)

Classify goals and write down the characteristics of goals.

mﬁﬁﬂgﬂ,ﬁmﬁmﬁﬂgﬁ%%%m
fafeg |

Define decision-making. Write down the steps involved

for decision-making.

fofa yiwer = qRenfid wifeg | fofa fee & fom
W B g fafas =l % sr H fafen |

Explain different types of resources in detail by defining

them.

fafir areAl %1 R @ au e g TR uRwifia
I |

Write down the classification and characteristics of values.

T @ fieter qen gEe R e

L-1831 : 2

9.

Compulsory Question ( 31T ¥97)

Explain in 3-4 lines each :

(a) Definition of standards

(b) Definition of organizing and evaluation

(c) Difference between long term and short term goals

(d) Difference between human and non-human
resources.

TOF H 3-4 A § IW G

(37) WX & IR

(9) TTH § HAHT HI GRA

(9) @ oafy 9 otew oEfy wad H oTRH

(%) uwFEE 9 AEEE WA e |

(3-15/4) L-1831 3 400



8. What role does calcium play in our body ? Discuss the

ﬂﬂ@ﬁ@d&@i%ﬂ.ﬂﬁﬁ&gﬂw

fafem

(1) e

(F) !

(9) EEH & &6 & I9E

(3) v wt Afgswmar (a)

(3) WwERIE = H e FH B wE (b)

(%) wfeom & s | (©)
(d)
(e)
H

L-1832

effects of deficiency and excess of calcium. g ROIINo. cocceent e Total Pages : 04
TR o ®feway ® F dew € 7 Hfewam # FHoaen GSE/M-18 1832
FfUFHA & g T | BASIC NUTRITION

9. Write short notes on any \m:x of the following : 4x2 . Course 115 , .
(a) Anaemia . Time : Three Hours] [Maximum Marks : 40
(b) Scurvy .
(¢) Effects of deficiency of iodine Note : Attempt Five questions in all, selecting two questions
(d)  Fluorosis from each Unit. Q. No. 1 is compulsory. All questions
() Deficiency and sources of riboflavin carry equal B.mﬂwm. ' . )
(f)  Functions of Sodium. TR R W W R W g G, 7 W vl F

IR AT | W TEw 1 efEd € oy @

% guH € |

Compulsory Question ( e g )

1. State whether the following statements are true or false :

Fibre prevents constipation.

Excess of protein in diet causes marasmus.
Deficiency of sodium causes Goitre.

In niacin deficiency the colour of the tongue turns
yellow.

Pigeon chest and bow legs are the symptoms of
deficiency of vitamin E.

Omﬂgrv\&mﬂmm and lipids (fats) have protein mwmarm
action on body.

4 400 (3-15/5) L-1832 , v P.T.O.



() Among all ioods egg protein is the best in
quality.

(h)  Milk is an excellent source ~{ iron. 8x1

m%ﬁ@mﬂﬁﬁﬂwﬁ%ﬂ : .

\ﬁvﬂﬂﬁﬁﬁ@ﬁyﬂ?ﬁﬂm_

Amv&%ﬂ_%%ﬂ@ﬁ@%ﬁ@ﬂaﬁ?%w_

(W) wfeqm =t sifowar @ S I g ¥

() Frafer &t =@ 9 S = @ den @ s

(3) S0 99 9 FAF S N frefm € w1 w9 o5
o E |

Aﬂﬁ%ﬂmsm@%ﬂm&uﬂﬁiﬁﬂaﬁm
g

(M) ﬂ&i&@%@ﬂgﬁuﬁ%ﬂﬁmﬂﬁ
g ? _

(8) 39 Wi &1 399 WA & 2

Unit I (3&T3 I)

Define lipids and discuss their functions, sources and
effects of excess. 1+4+1+2
I H IR FIC q T wE, ety @t qen
sfshal & gamEl %1 avl FifTw |

Discuss the functions of water, What are the effects of
deficiency and excess water in body ? Explain. 8

Ve % TR wE ey | R ¥ 9w 1 s Ay

bt # g9@ F TR § 2 vl wife

L-1832 , 2

What are the functions of carbohyrates in our body ? Explain

t2e’r sources and effects of deficiency and excess. 8

& TR w1 FHE B ¥ 2 R % v w)
h_ﬁmﬁﬁwimﬁﬂ%ﬁﬂ%ﬁ%
HiIfST |
Explain the following : |
(@ Role of dietary fibre for health
(b)  Effects of deficiency of protein in children.
frfafes = a9emy .
(1) W & fod oerig v % dew
() w=3 H YA # FH P yHE |

Unit IT (373 II)

Describe the functions and effects of deficiency of
Vitamin A. Name the sources of vitamin A in diet. 8
i ‘v & iR Sl oo wE B waE @ i

T | 35 e ww st TRy | |

What are the functions of niacin ? Explain sources and

effects of deficiency of niacin. 8

gﬂ%ﬂa%wv%%&ﬁ%mﬁqgﬁ
4w ® gwEl w1 oae #ifie

(3-15/6) 1.-1832 3 P.T.O.



4x2=8

5. Autempt any nro of the following :

iy Classify enzymes based upon the reaction catalvzed ROHNO. v, Total Pages : 04
by them. : GSE/M-18 1833

{11y Biological functions of phosphorus. "HOME SCIENCE

i) Causes and clinical symptoms related to anemia. Course 116

frafafes & 9§ fodl @ &1 9w FifET
(i) TU~IEH &1 SR 39 N SARG Wi &
YR W WY |

(i) wEERE % SfgwE wE@

(i) TR € dofuq wRU qw NSt e |

1. Briefly describe the following :
@)
(ii) 3D disease

Time : Three Hours]

Note :

Nutritional Biochemistry

| Maximum Marks : 40

Attempt Five questions in all. Q. No. 1 is compulsory.
Attempt four more selecting rwo questions from each
Unit. All questions carry equal marks.

TRE THEE W W I Y g U, | U G B
S| AT | v wem 1 afteR ® 1wl e #
F A T |

Compulsory Question ( 3Ifard wg=)

2x4=8

Coenzyme (1)) Iodine number

(iv) Essential amino acids.

frafafes = S gen ¥4 difsw .

6))
(i) 3 T

[-TR-1833 4 400

(3-17/1) 1.-TR-1833

HITEH (i) oTEENA we
(iv) Tovas wiAl ufhew

P.T.O.



w

(a)

(b)

(a)

(b)

(b)

Unit I (38 1)

Classify carbohydrates based upon their composition. 4
FEARIRTE  HI T GO B SR W EUiCT]
Ffw

Describe the digestion of carbohydrates in human
beings. - | 4
e § wEeRge % WA F1 g HIfNT |

Describe the functions of proteins with examples. 4
WM % FE F OI[E Wfed A HIfE |
Draw structures of two acidic and two basic amino
acids. 4
S wfew qun S e oAl wfaew # oG
fafew |

Give the structural characteristics of different types
of lipids. Explain with examples. 4
fafrem = fafim yori =t 9w favvaet =
U T | [ Wfed TS |

Define saponification value. Discuss its significance
in quality control. : 4
Aol AF &t uia e | s e |
THHT AW ARl |

L-TR-1833 2

(a) Differentiate between the structure and functions of
DNA and RNA. 4
DNA 91 RNA & H&A a9 &1 § 31w sifory |
(b) Discuss the functions of different types of RNA.4
RNA & fafas yori & =@ %1 ool #ifm

Unit IT (z=T2 1I)

Give structure and discuss the functions, deficiency

symptoms and availability of Vitamin A. 8

fTafm A =+t 9=, w5, 89 F G 99 e
Fofq FfeT |
Discuss the biological functions and deficiency symptoms

of calcium. S

Ffoqan & Jfawlm FE@ don FH F GGV FT oIU
HifeT |

What are Enzymes ? Discuss their importance in livine
systems. How is the activity of an enzyme affected .
temperature of reaction mixture ? 8

(aWnY

TSIEH #41 § 7 Sifad =Fewen § THe Hewd wARy | UE

T=TEH i wEYed WAl for- & qoue gw #o
vt e § 2

(3-17/2) L-TR-1833 3 P.1.O.
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BCA/M-18 1994
ADVANCED PROGRAMMING IN C
BCA-121

Time : Three Hours] [Maximum Marks : 80

J . ~ 7 : ] 1
Note : Attempt Five questions. Q. No. 1 is compuilsory. Select
one question from each Unit,

{Compulsory Question)

v

i. (a “xplain varicus strin ing functi
(a)  Explain varicus stris ng handling functions in C.

(b)  Distinguich between Malioc ana (Cal

¢)  Explain Header illes with exam ies

N

7 are 1 .
What are the different file « operatin

t0)  Write & rrogram for adding g string {0 2nd of anotkor

(78]
.
o
£
i

Difference between Structure and Upion, Weir
1 Lk E . {i¢

syatax for declaration of Structure and Union,

(b) Explain typecasting with example.

(320191904
21.0.

Upit JI

3%

4. What is Recursion 7 Write o program in C to print series
0, 1. 1.2.3,5, 8 i . using recursive functions.
16
A, (a) Difterentiate between Call by Value and Call by
Reference in C with suitable examples.

(b) Explain dynamic allocation in C using pointers.

8§x2=16
Unit T11

6. Explain the following 8§x2=16
(a) File /O and Console I/O
(b) fopen() and fclose().

7. What are the different ways in which files can be
categorized in C ? How errors are detected in files 7 16

Unit IV

8. Write short notes on the following 4%x4=16
(a) #define
(b) Macros In C
(¢) Conditional Compilaticn
(d) #include.

9.  What are OoBEm:a Line Argumerts ? How do we define
and use Command Line Arguments ? Write a simple
program for Command Line Arguments. 16

1-196G4 2 2,200

e



RolINo. e Total Pages : 03

BCA/M-18 1905
LOGICAL ORGANIZATION OF
COMPUTERS-IT
BCA-122

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
In addition to compulsory question, student will have
to attempt four more questions selecting one question

from each Unit. All questions carry equal marks.

(Compulsory Questien)

L. (a) What are sequential circuits ? Explain.
(b) Explain magnetic core memories.

(¢) What is floppy disc ? Explain.

L . S

(d) What are Software Interrupts ? Zxplain.

Unit [

2. (a) What do you mean by clocked RS flip-flop ?
Explain with the help of suitable example. 8

(b)  Write down the excitation iable for JK flip-flop, RS
flip-flop and D flip-flop. 3

2-11/3) 1-1905 P.T.O.



What is SR flip-flop * Whiat is the weakness of SR flip-

flop and how we can resclve this weakness ? 16
Unit I

(@ What is  Asynchronous counter 9 Explain
Asynchronous MOD-3 counter in detail. 8

(b)  Explain up-down counter in dewail with example. 8

Elaborate on parallel in Serial cut register. Ripple counter,
Shift left register and Synchronous MOD-10 counter in
detail. 16

Unit 111

(@)  What is Optical Disk ? Explain advantages an!

disadvantages of optical disk. 3

p—~
N

Explain magnetic disc in detail along with i

advantages and disadvantages. 8

(a)  Explain Read Only Memory (ROM) and various
types of ROM. 8
(b) Explain Dot Matrix Printer, Chain Printer and

Magnetic Tape. 8

L-1905 2

Unit IV

8. (a) Explain the Direct, Implied and Register addressing
modes in details. 8

(b) Explain the interrupt structure in detail. 8

9. (a) Explain DMA transfer in detail. 8
(b) Explain the following arithmetic statement using
‘various address instruction formats : 8

X = (A + B)*C + D)
(2-11/4) 1.-1905 3 2,100



Section IV

1 2 2
. . . 0 2 1

8. (a) Find the eigen value of the matrix
-1 2 2

Also find the eigen vector corresponding to any

one of eigen value.

(b) Prove that the eigen values of a real symmetric

matrix are real.

9. (@ Verify Cayley Hamilton theorem for the matrix

. Also find AT,

[ R e
(T (O A

2
1
3

2 -1
(b) Diagonalize 2 0 if possible.

<~

L-1906 4 2,200
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BCA/M-18 1906
MATHEMATICAL FOUNDATION-II
BCA-123

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all, selecting one question
from each Unit. Q. No. 1 is compulsory. All questions

carry equal marks.

I. (@ 1If p and ¢ be any statements, then construct the
~truth table of ~ pv ~gq.
(b) If every element of a group is its own inverse then

show that the group is abelian.

43 v
() IfA= 2 5 |- find x and y such that A2 — xA + yI

= 0.
(d) If A and B are Hamilton matrices show that AB —

BA in skew-Hermitian.

12 3
(e) Find the rank of |> 2 !| by definition.
111

2-1U5) 1.-1906 . . P.T.O.



(b)

(b)

L-1966

Section 1

Define contradiction and tautology propositions. Use

truth-table to establish contradiction and tautology

from the following properties :

O [(~9)ap]rg

@ [pa(~a)]al(-p)va]

Identify the quantifiers and write negative of the

statement :

(i) there exists a number which is equal to its
square

(i)

some diseases are curable and not infections.

Using principle of mathematical induction, prove
that for all » € N

I T 1 o7
:.A=+.C|:+H

Show that ~[(~ p)Aq] and pv(~q) are logically

equivalent.

Section II

Let S = {0, 1, 2, 3, 4} and +5 is binary operation
defined by a +5 b is the remainder obtained on
dividing @ + b by 5, then prove that S is a group

w.r.t. +m.

(b) Show by an example that union of two subgroups
is not necessarily a subgroup.
5. (a) Define ring, ideal and field with an example.
a b
(b) Prove that the set of matrices 0 ¢ is a subring
of 2x2 matrices with integral elements.
Section 111
1 4 5
6. (a) Define adjoint of a matrix. If A=|3 2 6| then
0 1 0
find its adjoint and verify (A) (Adj. A) = [A|l;.
1 -1 1
(b) Find inverse of A={2 -1 0]. Also show that
1.0 0
Al = A2
ﬁ 1 2 -1 3
7. (a) Find the rank of 4 13 =2
-3 1 2 5
(b) For what wvalue of A will the equation
Bx—y+irz=1; 2x+y+z=2; x+2y—-Aiz=-1,
fail to have a unique solution ? Will the equations
have any solution for thin. value of A.
(2-11/6) 1.-1906 3 P.T.0.
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BCA/M-18 1907
OFFICE AUTOMATION TOOLS
BCA-124
Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all, selecting one question

from each Unit in addition to the Compulsory Question

No. 1.
(Compulsory Question)
1. What is : 8x2=16
(a) DTP (b) PageMaker
(¢) Header (d) Indent
(¢) Autocorrect (f) Mail Merge
(g) Pie Chart (h) Word Art.

Unitl

2. Explain Desktop publication along with its features and

applications. 16

Or

What is PageMaker ? Explain its various features.

2-11/7) 1-1907 P.T.O.

Unit I1

3. What is a publication in PageMaker ? What is story
editor in PageMaker ? Explain its uses. 16
Or
Write steps for creating a sample publication on any one
of the topic :
(i) Car Sales Brochure (i) Restaurant Food Menu
(ili) College Admission Notice. ,

Unit ITI
4. What is a word processor ? Explain with various text and
paragraph formattings.: 16
Or

What is Mail Merge ? Write a sample letter inviting
students for Alumni Meet using Mail-Merge wizard.

Unit 1V

5. What is PowerPoint ? What are its uses ? Explain how
to use animation in PowerPoint. 16
Or

What is spread sheet ? What are different types of charts
in MS-Excel ? Draw a pie chart for the following data :

Year (2015-2016) | Expenses (in lakhs)
April-June - 10
July-September 15
October-December 05
January-March 20

L-1907 2 2,090
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BCA/M-18 1908
STRUCTURED SYSTEM ANALYSIS
& DESIGN
BCA-125
Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all, selecting one question

from each Unit. Q. No. 1 is compulsory.

1. (a) Make decision table for 3 variable OR Gate.
(b) Differentiate IPO and HIPO charts.
(c) Write a note on o and B testing.
(d) Write elements of system. 4x4=16

Unit]

2. Define system, characteristics of system and types of
system. 16

3. Explain SDLC. 16

UnitI1

4. (a) Explain fact finding process and techniques used.
{b) Discuss feasibility and its types. 16

(2-11/8) 1-1908 P.T.O.

5. Define DFD, make a DFD for inventory system and

explain its functioning. 16

Unit HI

6. (a) Explain difference in Logical and Physical Design.

(b) Discuss Cost/Benefit Analysis. 16

7. Define file, types of files and explain insertion and deletion

in index sequential file organization. 16
Unit IV

8. Why testing is so important ? Explain testing techniques.

16
9. Write notes on the following :
(a) SQA
(b) S/w Maintenance. 16
L-1908 2 2,190



4. Explain the meaning of any six of the following

terms : 1x6=6
ROIINo. u.cvirrrnerncnrnenee Total Pages : 02 (@) Addressee (b) Adverse report
BSIT/M-18 12379 (c)  Arbitrary (d) Balance sheet
COMMUNICATION SKILLS (¢)  Brain drain ()  Contingency
(g) Defer (h) Drawee
BSIT-201

(1) Embezzlement.

(English-II)

S. Explain the meaning of any six of the following

Time : Three Hours] [Maximum Marks : 30 terms - 1%6=6
Note : Attempt all questions. Q. No. 1 is compulsory. (@) Interim (b) Indent
(¢) Modus operandi (d) Payee
1. Answer the .mo:oswsm : 1x6=6 (¢) Reimburse . ()  Strenuous
(a) What is Notification ? (2) Validation (h) Waive

(b)  What is Agency Banking ?

(¢)  Give the meaning of the term ‘abolition’.
(d) Give the meaning of the term ‘gratuity’.

(¢) Give the meaning of the term ‘minutes’.
(f)  Give the meaning of the term ‘in toto’.

(1) In lieu off.

2. What are the objectives and importance of business
letters ? 6

Or

Write a note on Quotations.

3. What is the distinction between official and business
correspondence ? 6

Or

Write a note on the essentials of a good draft.
L-12379 2 300
(3-05/7) L-12379 P.T.O.



(b)
8. (a)
(b)
9. (a
(b)

E-12380

Solve the following equations by Jacobi's method : 4
10x +y + 2z =44

2x + 10y + z = 51
x+ 2y + 10z = 61
Unit IV

Given :

x |1]2]3]4]s5]6 778
F(x) 1182764 ]125] 216|343 | 512

Find the value of f{7.5) by using Newton Backward
Interpolation. 4
Find the lowest degree polynomial which satisfies
the following values : 4

x |o]t1]2]3[4]5s
foylo|3]s|15]24]3s

Use Lagrange's Interpolation formula to fit a

polynomial to the foliowing data : 4

x |-1]012]3
F(x) -8]31]12

Hence find the value f{1).

) 4
. x° x" .
Represent cosx =1 ||w|.+ o in terms of Chebyshev

polynorrial. 4

1221 DO T Total Pages : 04

BSIT/M-18 12380

MATHEMATICAL FOUNDATIONS OF
INFORMATION TECHNOLOGY-1I
BSIT-202

Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting one question

from each Unit. Q. No. 1 is compulsory.
(Compulsory Question)

1. (a) Find the interval in which the root of the

| equation : 2
x3 - x2 —x -3 =0 lies.

(b) Establish whether the system 1.01x + 2y = 2.01;

x + 2y = 2 is well condition or not. 2

(¢) Find A sin{cx + d) 2

(d) Using Taylor's method obtain the approximate value

of y at x = 0.1 for the differential equation : 2
GN.V\ X
—=2y+3¢ =
I y and y(0) = 0
Q-04/INE-12386 P.T.O.



2. (@)

(b

(®)

(b

L-12380

Unit I

Find a real root of the equation x* —x—4=0 using
bisection method correct to three places of
decimal. 4
Find the real root of the equation x> 4x-3=0 by
Regula-Falsi method correct to three places of

decimal. 4

Find the real root of 4 _ x—10=0 by Newton-
Raphson Method which is near to 2 correct to three
places of decimal. 4
Find the cube root of 5, correct to three places of

decimal by ‘Iterative Method’. . 4

Unit 11

Solve the following equations by Gauss-Elimination
method : 4
2x+3y—~z=35
4x +4y — 3z =3
2x -3y ~2z=2

Define Pivot elements and explain complete

it

pivoting. 4

5. (a) An approximate solution of the system 4
2x+2y-2z=6
x+y+2z=8§
X +3y+2z=4
is given by x =28, y=1,7=18 using Iterative
method, improve this solution.
(b) By use of pivoting, solve the following equations :
Xp T X +tx3=6
3x; + 3x, + 4x; = 20
Nx_+x~+wan_u 4
Unit I1I
6. (a) Apply Gauss-Seidel iteration method to solve the
following equations :
20 +y -2z =17
3x + 20y -z = 18
2x — 3y + 20z = 25 4
(b) Using Euler's method find approximate value of y
when x = 0.6 of the differential equation :
dy
—=1-2
N Xy
given that y = 0 when x = 0 (Take h = 0.2). 4
dy _ -
7. {(a) Given Mi~+% where y = 0, when x = 0. find
1(0.2), y(0.4) by using Runge-Kutta method. 4
(2-04/12) L-12380 3 P.T.0.
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BSIT/M-18 12382
DIGITAL ELECTRONICS-II
BSIT-204
Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting one question

1. (a)

(b)

(©)

(d)

(®

from each Unit. Question No. 1 is compulsory.

Explain the term Conversion Time and accuracy of
ADC. . 2
What are the advantages of magnetic memories
over semiconductor memories ? ‘ 2
Mention various applications of Analog to digital
converter. ¢ 2
Discuss advantage and disadvantage of dynamic
MOS RAM. A 2

Unit I

Describe the operation of a parallel in and parallel
out shift register. Explain how numbers can be
shifted in or out from such a register ? 4
Explain the operation of a bidirectional shift

register. 4

(2-04/15)1.-12382 P.T.O.



(b)

(b)

(b)

(b)

L-12382

Explain the operation of a 4-bit serial in-serial out

shift register. 4

Explain the operation of a 4-bit ring counter with

timing diagram. 4
Unit IT

Explain the operation of a binary weighted resistance
DAC and discuss its limitations. 4
A six bit resistive divider network has 10 volts full
scale output. Find the output voltage for an input of
110110. 4

Describe the successive approximation method for
analog-to-digital converter. 4
Explain the performance characteristics of DAC. 4

Unit 11

Explain the following terms relating to memory
unit :

(1) Memory address register

(1) Access time of memory

(iii) Write time of memory

(iv) Memory cycle time. 4
Write notes on the following : 2+2=4
(i) PROM (1)) EEPROM.

2

7. (a) Define Read only memory. Explain the organization

of diode matrix ROM. 4
(b)  Explain the operation of B.J.T. static RAM memory
cell. 3

Unit IV

8. Describe various magnetic surface storage devices in brief

and state their advantages and disadvantages. 8

9. What is a content addressable memory ? Explain the
operation of a content addressable memory.

(2-04/16)1.-12382 3 300



